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M.Com. (Part - 1) Examination, 2010
Co-operative Movement in India and Abroad (Paper —1)
Group F : CO-OPERATION AND RURAL DEVELOPMENT (Optional)
(2002 Pattern) (Old)

Time : 3 Hours Total Marks : 80

N.B. : 1) All questions are compulsory.
i) All questions carry equal marks.

1. Enumerate the growth of Co-operative Movement in the World.
OR
Define Co-operation and explain the modified principles of Co-operation.

2. Explain in detail the Co-operative Movement in Japan and China.
OR
Explain in detail the Co-operative Movement in USA and Sweden.

3. Explain the salient features of Maharashtra State Co-operative Act, 1960.
OR
Elaborate the Co-operative Movement in India Pre and Post Independence Period.

4. Explain legal control of Government over Co-operatives in India.
OR
Explain the Recommendations of All India Rural Credit Survey Committee.

5. Write short notes (any four) :
1) Economics of Co-operation
2) The International Co-operationAlliance (ICA)
3) Co-operation in Mixed Economy
4) Globalization and Co-operation
5) Rural Credit Review

6) Objectives of Maharashtra State Co-operative Act, 1960. oTo
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M.Com. (Part - I1) (Compulsory) Examination, 2010
BUSINESS FINANCE (Old) (2002 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. What is Business Finance ? Explain the factors to be considered while preparing

financial plan. 20
OR
Explain in detail various sources of finance available to the Public Sector. 20
2. A) State the financial problems of S.S.1. Units in India. 10
B) What do you mean by NRI ? Explain the need and incentives in respect of
NRI investment in India. 10
OR
Write short notes on (any two) : 20

a) Role of Foreign Direct Investment (FDI) in India
b) Euro-lssues

c) External Commercial Borrowings.

3. What is Stock Exchange ? Explain the importance, organisation and functions of

Stock Exchange in India. 20
OR

What do you mean by Mutual Funds ? Explain in detail the various types of

Mutual Funds. 20

4. What is Merchant Banking ? Describe in detail the various services rendered by a

merchant Banker. 20
OR

A) Describe the functions of a Depository system. 10

B) What is Credit Rating ? Explain methods of Credit Rating. 10

P.T.O.
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5. Write short notes on (any four) : 20
a) Project appraisal
b) Portfolio Management
c) E-Broking
d) Players in secondary capital market
e) Functions of SEBI
f) National Stock Exchange.
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M.Com. (Semester — 1) Examination, 2010
Group E : Commercial Laws and Practices
Special Paper — 111 (2008 Pattern)
E-SECURITY AND CYBER LAWS (New)

Time : 3 Hours Max. Marks : 80

N.B. : All questions are compulsory and carry equal marks.
1. Enlist the security requirements for e-commerce. Explain various methods and
mechanism. Which can be used for fulfilling security requirements ?
OR
Explain the following :
a) Types of computer crime
b) Computer virus
c) Corporate-E-mail privacy
d) E-security challenges.

2. “The electronic system that supports e-commerce is susceptible to abuse and
failure in many ways”. Do you agree with this statement ? Explain.

OR

Explain in detail the features of software packages popularly used in creating a
website.

3. Elucidate the provisions of Information Technology Act, 2000 relating to
composition, powers, function and procedure of cyber regulation appellate
tribunal.

OR
What is Internet ? Explain the role of Internet service provider.

4. Discuss the cyber crimes (offences) made punishable under ITAct, 2000.

OR

Explain the provisions contained in IT Act, 2000 regarding penalties and adjudication

for damage to computer network and computer system under IT Act, 2000.
P.T.O.



[3770] - 211 AR A T

5. Write brief notes on any four :
a) Common threats to e-system
b) Password and Firewall
¢) Advantages and disadvantages of XML
d) Cyber regulation advisory committee
e) Formation and validity of E-contracts

f) Offences under IT Act, 2000 by companies.

B/1/10/540
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M.Com. (Semester — 1) Examination, 2010
Group E : COMMERCIAL LAWS AND PRACTICES
Paper — IV
Laws Relating to Copyrights and Designs
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
I1) All questions carry equal marks.
1. A) State the provisions of the Copyright Act, regarding compulsory licences.

B) Describe the modes of assignment of copyright.
OR

1. What is “infringement of copyright” ? Describe in detail the exceptions to the
infringement of copyright.

2. What is a “Design’ ? Which designs are registerable under the Designs Act, 2000 ?
State the rights of proprietor of a registered design.

OR

2. State the composition of ‘Layout-Design Appellate Board’. What are the
qualifications for appointment as a Chairman and Vice-Chairman of the Board ?
Describe the procedure and powers of the Appellate Board.

3. Explain the provisions of the Geographical Indications of Goods Act, 1999
regarding registration of geographical indications.

OR

3. Define the term ‘New Plant Variety’. Describe the rights of farmers under the
Protection of Plant Varieties and Farmers’ Rights Act, 2001. Also explain the

rights of communities.
P.T.O.
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4. Answer the following questions in brief (any two) :
A) State the functions of Copyright Society.

B) What facts a plaintiff has to establish to prove piracy of a design under the
Designs Act, 2000 ?

C) State the rights conferred by registration of *‘Geographical Indication’.

D) What are the objects of the Protection of Plant Varieties and Farmers Rights
Act, 2001 ?

5. Write short notes on (any four) :
A) Subject matters of copyright
B) Offences under the Copyright Act
C) Register of Designs
D) Regulatory authorities under the Layout Designs Act
E) “Certificate of Validity’ under the G.I. of Goods Act, 1999
F) PlantVarietiesProtection Appellate Tribunal.
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M.Com. (Semester — 1) Examination, 2010
(Group - G) ADVANCED BANKING AND FINANCE
Special Paper - IV
Monetary Policy
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Define Money supply. Explain the approach of RBI regarding measurement of
Money Supply. 15

OR
1. Explain the “Money supply and Price Stability’. 15
2. What is Monetary Policy ? Discuss the following objectives of Monetary Policy. 15
i) Exchange Rate Stability

i) Balanced growth.

OR
2. What is Monetary Policy ? Explain the conflicts among objectives of Monetary
Policy. 15
3. Discuss how far the Qualitative credit controls are effective as a tool of credit
control in a country like India. 15
OR
3. Critically review Monetary Policy of the RBI during last five years. 15
4. Explain the role of the RBI in Industrial Finance. 15
OR
4. Explain the role of the RBI in Rural Credit. 15
5. Write short notes (any two) : 20

a) High Powered Money
b) Generation of Employment
c) Open Market Operations

d) Export credit. P.T.O.
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M.Com. (Part — Il) Examination, 2010
BUSINESS STATISTICS
(2002 Pattern) (Old) (Compulsory)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator and statistical table is allowed.
4) Symbols and abbreviations have their usual meanings.

1. Attempt any four : (5 each)
a) What is a time series ? Write a short note on trend.
b) Write a short note on simple random sampling.
c) Write a note on C.S.O.
d) Define Karl Pearson’s correlation coefficient. State its four important properties.

e) A study of wheat prices at Bombay and Kanpur, gives the following data :

Bombay (Rs.) | Kanpur (Rs.)

Arithmetic mean 7.50 8.10

Standard deviation 0.326 0.207

Correlation coefficient between the prices at Bombay and Kanpur is 0.774.

Estimate the price at Kanpur if the price at Bombay is Rs. 8 using the above
data.

f) Overall percentage of passing in a certain examination is 40. What is the

probability that out of a group of six candidates at least two failed in the
examination ?

2. Attempt any four : (5 each)

a) Two cards are drawn from a well Shuffled pack of playing cards. Determine
the probability that :

I) both are aces
i) both belong to the same suit

i) both are spades.
P.T.O.
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b) Two identical urns contain respectively 3 white and 2 black balls; and 2 white
and 5 black balls. One urn is selected and a ball is drawn from it. What is the
probability that it is black ?

c) If the probability that any person 65 years old will be dead within a year is
0.05. Find the probability that out of 7 such persons, i) exactly one ii) at least
one, will die within a year.

d) If the mean and standard deviation of a Binomial distribution are 6 and 2
respectively. Find the values of the parameters.

e) Define Normal distribution. State any four properties of Normal distribution.

) Define probability of a event. What are the limitations of classical definition of
probability ?

3. Attempt any four : (5 each)

a) Define the two regression coefficients. Give any two properties of them.

b) Define the following terms:
i) Null Hypothesis
i) Level of significance
i) Type-I error.

¢) A manufacturer of a spot remover claims that his product removes at least 90
percent spots. What can we conclude about this claim at o =0.05 if the spot
remover removed only 174 spots out of 200 chosen at random ?

d) A sample of 100 bulbs gave average life of 1235 hours. Can this sample be
regarded from a population with mean life of 1250 hours ? from the past
experience it is known that population standard deviation is 50 hours. Use 1%
level of significance.

e) Suppose heights of soldier follow normal distribution with mean 170 cm. and
variance 50 cm2. In a regiment of 1000 soldiers how many would you expect
to be over 180 cm. ?

f) In the inspection of a fabric produced in continuous rolls, the number of
imperfections per ten yards is a random variable having a Poisson distribution
with parameter m = 2.8. Find probability that 10 yards of the fabric will have
i) 3imperfections ii) at least 1 imperfection (¢-22 = 0.060810).
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4. Attempt any two : (10 each)

a) What do you mean by statistical quality control ? Give a short note on control
charts for mean and range.

b) Estimate trend by fitting straight line equation for the following data :

Year 1993 | 1994 | 1995 | 1996 | 1997

Annual sales

in 10,000 Rs. 35 56 79 80 | 40

c¢) Find the correlation coefficient between the sales and expenses of the following
10 firms. Also interpret your result.

Firm No. 1 2| 34|51 6| 7] 8] 9|10
Sales (lakhs Rs.) 50 50 |52 |60 |64|65 65| 60|60/ 50

Expenses (lakhs Rs.) | 11 | 13 |14 | 15|14 |15 15|14 (13|13

5. Attempt any two : (10 each)
a) Following data provide values of sample mean and range for 10 samples each
of size 5.
Sample No. 1 2 3 4 5 6 7 8 9| 10

Sample mean |14.2  13.9(155|12.1(14.1|13.2 129|135|13.1|12.8

Samplerange | 20| 25| 28| 25| 30| 19 21| 39| 31| 21

Given control chart constants for n =5, as A, = 0.577, D, = 0, D, = 2.115,
draw X and R charts and comment on the state of control of the process.

b) The following table gives the age of cars of certain make and annual
maintenance costs. Estimate the maintenance cost of a car of 10 year old.

Age of Car 21 4l 6 8
(in years)
Maintenance cost
10|20 | 24
(Rs. hundred) 0120 30
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c) 1) A population consists of 3 items 2,4 and 7. Draw all possible samples of
size 2 drawn by SRSWOR. Find population mean and verify that sample
mean is an unbiased estimator of population mean.

i) Given the following information, find unbiased estimator of population
mean and population total.

Stratum No. Stratum Size = Sample observations

1 50 13, 15,17, 8,9
2 70 28, 20, 22, 25, 30, 15
3 60 51, 55, 62, 56, 65

B/1/10/795
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M.Com. (E-Commerce) (Semester — 1) Examination, 2010
205 : KNOWLEDGE MANAGEMENT
Time : 3 Hours Max. Marks : 70

Instructions : 1) All questions are compulsory.
2) Figures to right indicate marks.
3) Give illustrations wherever necessary.

1. Explain in brief any five of the following terms. 10
a) Knowledge Management b) Data Mining
c) Explicitknowledge d) Information Economics
e) KnowledgeAnalysis f) Knowledge audit

g) Knowledge Engineer.

2. Answer any two of the following. 20

a) Assess the role of knowledge management and knowledge management
programme in business.

b) “Knowledge management systems have become one of the fastest growing
areas of Corporate, government and Software industry” Comment.

c) Explainthe Knowledge ManagementValue Chain.

3. Answer any two of the following. 20
a) What is the Internet ? Explain any five services provided by the internet.

b) “www enables organization to create a platform for interactive working and a
‘Knowledge repository’ accessible from anywhere in the world at a relatively
low cost” — Comment.

c) Explain the role of Technology in Knowledge Management.

4. Answer any two of the following. 20
a) Discuss the impact of knowledge management on the role of managers.

b) Discuss the people management policies and practices in the knowledge
environment.

c) Explain the TeamWorking Knowledge Environment.

B/1/10/135
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M.Com. (E-Comm.) (Semester — I1) Examination, 2010
206 : INTERNATIONAL BUSINESS

Time : 3 Hours Max. Marks : 70

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Each question carries 14 marks.

1. What is International Business ? Explain two theories of International business.

OR

1. What is International business environment ? Explain its nature and relevance to
the world economy.

2. What are Multinational corporations ? Explain the factors that contribute for the
growth of MNC’s along with its concept.

OR
2. The concept of MNC’s has changed the nature and scope of International business.
Explain its advantages and disadvantages.
3. What do you mean by Exchange Market in International context ? What are its
determinants ?
OR
3. Explain Indias Foreign Trade policy with respect to its composition and direction.
4. Explain the concept of International Monetary Fund with its objectives and
functions.
OR
4. Why was the World Bank formed ? Explain its objectives and functions.

5. Write short notes on (any two) :
1) Current Foreign Trade Policy of India
2) Effect of Globalisation on International trade
3) Functions of World Trade Organisation
4) Balance of Trade and Balance of Payment.

B/1/10/135
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M.C.A. (Commerce Faculty) (Semester — I1) Examination, 2010
BUSINESS PROTOCOL AND CROSS CULTURAL COMMUNICATION
SKILLS

Time : 3 Hours Marks : 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
1. Why is communication important for good relationship and effective relationship ?
OR

1. Discuss communication as a two-way process of exchange information.

2. Discuss how communication is the lifeline of an organisation’s good health.
OR

2. Discuss the formal and informal lines of organisational communication.

3. Explain Interviews as an Interpersonal communication.
OR

3. Write a note on the important characteristics of a successful communicator.

4. Explain the meaning, scope and importance of Business Protocol.
OR

4. What do you mean by Business Etiquette ? What are its Basic principles ?

5. Write short notes (any two) :
1) Importance of Business Communication in International context.
2) Cross culture or Inter culture factors in communication.
3) Skills need to have a successful group discussion.

4) Objective and need of communication to business.

B/1/10/315
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M.C.A. (Commerce Faculty) (Semester — I1) Examination, 2010
203-COST ACCOUNTING AND COST CONTROL TECHNIQUES

Time : 3 Hours Total Marks : 80

N.B. : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Use of calculator is allowed.

1. A) Define Cost Accounting. State the objectives of costing. 8
B) Differentiate between Cost Accounting and Financial Accounting. 8
2. Write short notes (any four) : 16

I) Overheads
i) Operating costing
i) Features of Job costing
Iv) Profit on Incomplete contracts
v) Machine Hour Rate
vi) Cost unit.

3. The following details have been extracted from the books of accounts of
M/s. Abhay Enterprises for the year ending 31t March 2009.

Particulars Amt. (Rs.)
Opening stock of Raw Material 1,88,000
Closing stock of Raw Material 2,00,000
Materials purchased during the year 8,32,000
Direct wages paid 2,38,400
Indirect wages 16,000
Office Salaries 40,000
Carriage Inward 32,000

P.T.O.



[3770] - 263 2- AR O

Carriage outward 20,000
Cash discount allowed 14,000
Bad debts written off 18,800
Repairs to plant & machinery 42,400
Rent, Rates, Taxes-Factory 12,000
Office 6,400
Travelling expenses 12,400
Salesman salaries 33,600
Depreciation written off :
Plant & Machinery 28,400
Office Furniture 2,400
Director’s Fees 24,000
Electricity charges (factory) 48,000
Fuel(Boiler) 64,000
General charges 24,800
Manager’s salaries 48,000

The Manager’s salary is to be divided between factory and office in the ratio of 1 : 4.

From the above details, you are required to prepare a statement of cost showing
necessary details. 16

4. The Product of a manufacturing concern passes through two processes, A and B
and then is converted into finished product.

It is ascertained that in each process 5% of the total weight is lost and 10% is
scrap, which from process A and B realises Rs. 80 per tonne and Rs. 200 per
tonne respectively.

The following are the figures relating to both the processes.

Process A Process B

Material (tonnes) 1000 70

Cost of materials (Rs. per tonne) 125 200

Wages Rs. 28,000 Rs. 10,000

Manufacturing Expenses Rs. 8,000 Rs. 5,250

Output (tonnes) 830 780

You are required to prepare Process Cost Account showing cost per tonne of each
process. There was no stock or work-in-progress in any process. 16

OR
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4. The following is the summary of the expenditure on Job No. 31 upto 31% December 2009.

Particulars Amount
Direct Material Rs. 3,40,000
Direct Wages Rs. 69,000
Stores issued Rs. 38,000
Stores returned Rs. 5,500
Sub-contract cost Rs. 63,000
Plant Rs. 1,20,000

Additional information :

1) The work began during 2009, and the total contract price agreed was
Rs. 8,00,000.

i) The Architect had certified that 4/5 I of the contract had been completed on
15t Dec. 2009.

iii) Depreciation of the plant upto 151" Dec. 2009 was Rs. 48,000.

iv) Materials at site on 315t Dec. 2009 was worth Rs. 50,000 and stores
Rs. 4,000.

v) The uncertified work was worth amounting to Rs. 26,000.
vi) Establishment charges are charged at 40% on Direct wages.

vii) It may be presumed that no depreciation on plant is required since 15™ Dec. 2009.
You are required to prepare Contract A/c for the Job No. 31 for the period ended
31t December 2009. 16

5. Prepare a Cash Budget for the three months ending March 2010 based on the
following information.

Rs.
Cash at Bank on 1% January 2010 25,000
Monthly salaries and wages (estimated) 10,000

Interest payable February 2010 5,000
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Particulars Dec. 2009 Jan. 2010 Feb. 2010 March 2010

Rs. Rs. Rs. Rs.
Cash Sales 1,20,000 1,40,000 1,52,000 1,21,000
Credit Sales 1,00,000 80,000 1,40,000 1,20,000
Purchases 1,60,000 1,70,000 2,40,000 1,80,000
Other Expenses 18,000 20,000 22,000 21,000

Other details :

I) Credit sales are collected 50% in the month of sale and 50% in the month
following.

if) Collection from credit sales are subject to 10% discount if received in the
month of sale and 5% received in the month following.

i) 10% of the purchases are in cash and balance in next month. 16
OR

5. A) From the following information, you are required to calculate :
I) Break-even-point
i) P/V ratio
i) Sales, for a profit of Rs. 6,00,000

Iv) Profit, if 4,00,000 units are sold at Rs. 6 per unit.

Information :

Fixed cost Rs. 7,50,000

Output 5,00,000 units.

Selling price per unit Rs. 5/-

Variable cost per unit Rs. 2/- 8

B) The standard cost card shows the following details relating to material needed
to produce 1 kg. of groundnut oil quantity of groundnut required 3 kgs.
price of groundnut Rs. 50/- per kg. 8

Actual data :
Production during the month 1000 Kg.
Quantity of material used 3500 kg
Price of groundnut Rs. 60/-per kg.
Calculate :
I) Material cost variance
i) Material price variance
i) Material usage variance.

B/1/10/315
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M.Com. (Part — Il) Examination, 2010
ADVANCED ACCOUNTING AND TAXATION
(Paper — 1V) (Optional) (Old) (2002 Pattern)
Research Methodology And Case Studies

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions in Section | are compulsory.
2) Attempt any two questions from Section I1.
3) Write the answers to the both Sections in the same answer
book.
4) Figures to the right indicate full marks.
5) Use of non-programmable calculator is allowed.

SECTION - |

Research in Accounting

1. Define the term “Research” and state the nature and importance of Research in
Accounting. 15

OR
1. Explain the various steps involved in the Research Process. 15

2. Explain sources and collection of a) Primary Data b) Secondary data in Research

inAccounting. 15
OR

2. Define “Research Design” and state the contents of Research Design. 15

3. Write short notes (any four) : 20

a) Types and functions of Hypothesis
b) Statistical series

¢) Multiple Regression model

d) Computer — a tool in Research

e) Objectives of Research in Accounting.
P.T.O.



[3770] - 31 2- AR O

SECTION -1l

Case Studies in Accounting

4. Comment on the following cases, referring necessary Sections of Income Tax Act
and Case Laws if any - 25

a) Due to Maharashtra Govt.’s pressure The Maha Electric Co. was not able to
collect the enhanced tariff, necessary entries regarding such tariff made in its
books of accounts as the company follows Mercantile system of accounting,
as though the company pleads that this is an hypothetical income, the I.T.O.
claims I.Tax on such income.

b) Shri Bhola borrowed Rs. 50,000 from his friend to purchase Govt. securities,
out of which Rs. 30,000 was lost in transit by theft, he wants to claim this as
an expenditure while filling his ITR, advise.

c) Shri Mogambo’s premises is raided by the department and found huge cash.
The ITO claimed Income Tax, Interest and Penalty thereon but Shri Mogambo
claimed that he has merely possessing the cash and this doesnot indicate that
he is the owner of the cash.

d) The Obama Co. Ltd. claimed a deduction for furnishing of bank guarantee
but the ITO refuses it, as actual payment has not happened.

5. Give your comments in following cases. 25

a) Kiran, who is a member of the Institute of Chartered Accounts of India,
does not hold a Certificate of Practise. His appointment as an Auditor of the
Company will be valid ?

b) Anuradha is a member of the Institute of Chartered Accountants of England
and Wales. Is she qualified to be appointed as an Auditor of a Company
registered in Pune under the Companies Act, 1956 ?

c) As the Statutory Auditor of Yahoo Computers Ltd. You find that the accounts
of its Pune Branch, audited by another auditor seem totally out of tune when
the ratios and trends shown by the branch accounts are compared with those
of other branches, eventhough the nature and scale of operations carried on at
the Pune branch are similar to those carried on elsewhere. You, therefore,
decide to visit the Pune branch and examine certain transactions. The
management argues that the branch auditor is also, qualified professional and
therefore, you should rely on the accounts audited by him.
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d) When a material Fraud is discovered in the case of a Company subsequent to
the audit, the auditor argues that he had totally relied on the works of his two
assistants, who had wide experience of auditing and who had passed the Inter
C.A. Exam. He further states that in other audit also, he relied totally on these
two assistants, and it was his practice to sign whatever report was finalised by
them.

6. How would you value the inventories per Ton of finished goods from following

details, as per AS-2 ? 25
Materials Cost 10,00,000
Direct Labour Cost 2,00,000

Direct variable production overhead  1,00,000.

Fixed Production charges for the year on normal capacity of one lakh tonnes, is
Rs. 10 crores. 2000 Tonnes of finished goods are in stock at the year end.

B/1/10/1,340
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M.Com. (Part — I1) (Optional) Examination, 2010
SECRETARIAL PRACTICE AND COMPANY MANAGEMENT (Paper - 1V)
Research Methodology and Case Studies
(2002 Pattern) (Old)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions in Section | are compulsory.
2) Attempt any two cases in Section 1.
3) Figures to the right indicate full marks.

SECTION - |
Research Methodology

1. What is Research Methodology ? Discuss the importance of Research

Methodology in Research studies. 15
OR
1. What are Secondary Sources of Data ? Explain in detail the secondary sources of
data collection. 15
2. Explain the meaning and significance of a Good Research Design. 15
OR
2. What is Research Study ? Explain the stages in the Research Process. 15
3. Write short notes (any four) : 20

a) Types of Research

b) DataAnalysis

c¢) Coding of data

d) Primary Data

e) Tabulation of Data

f) Testing of Hypothesis.

P.T.O.
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M.Com. (Semester — 1V) (Optional) Examination, 2010
CASE STUDIES IN COMMERCIAL LAWS AND PRACTICES
(Spl. Paper — VIlII)

(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions carry equal marks.
2) Attempt any four cases.

1. Shri Sameer is a scientist in space research. He discusses a scientific principle
with his Colleagues. One of the Colleagues, Shri P.C. Sharma uses the principle
and invents working device based on the same principle. Another colleague
ShriA. K. Bhat who was instrumental in suggesting the manner of putting in place
the arrangement of the mechanical devices claims himself that he is the true and
first inventor and applies for the patent.

Discuss in details :
1) The relevant provisions of Patent Law for the Patent.
2) Is Shri A.K. Bhat entitled to apply for the Patent or not ?

3) In case not, who out of the three can apply for the Patent ?

2. Shri S. P. Morgan started using the Mark “Container” as a trade mark for his
freight containers. He spent a huge amount on the advertisement of such freight
containers, so that they become very popular in the market. After ten years, he
applied for registration on the ground that his freight Containers acquired 100%
distinctiveness. The registrar refused registration of the trade mark objecting that
the trade mark was descriptive word directly indicating the nature and character
of the goods of the trader.

Discuss the case with reference to the relevant provisions necessary for the
registration of trade mark and advise Shri S. P. Morgan to defend the registrar’s
objection.

P.T.O.
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3. ShriAnand wrote a play entitled “Hum Hindustani” in 1983. The play was enacted
in next few years in Delhi and Mumbai. It got good reviews in well-known
newspapers. The play was basically based on the theme of provincialism and its
baneful and divisive effects on the society. A film maker, Mr. Mohan Sehgal
become interested in making a film based on the play. He heard the play from
ShriAnand in his office by giving offer to him. Shri Anand did not receive further
communication from Mr. Sehgal. Thereafter, Mr. Sehgal announced the production
of afilm ‘New Delhi’. The picture was released in September 1986. From comments
in the press Shri Anand felt that the film was very much like his play, ‘Hum
Hindustani’. Thereafter, Shri Anand himself saw the picture and felt that the film
was entirely based on his play. He felt that Shri Sehgal had dishonesty imitated
the film and violated his copyright. He therefore moved to the court.

Mr. Sehgal (Relux film) claimed that they had communicated to Shri Anand that
the play might have been all right for the amateur stage but it was too inadequate
for the purpose of making a full length commercial motion picture. The key
argument of Relux Film was that he could not have copyright on the subject or
idea of provincialism. Any one can adopt it in his own way. Relux Film claimed
that the motion picture was quite different from the play ‘Hum Hindustani’ in its
content, spirit and climax. Some similarities could be explained by the fact that
both were based on the idea of provincialism.

Discuss the case in detail in the light of the provisions of the Copyright Law and
advise Shri Anand to take action in the court of law.

4. World Trade Organisation many a time is called by many people as a ‘Wrong
Trade Organisation’. The same feeling was demonstrated by many organisations
particularly labour organisations.

It is said that it is a Wrong Trade Organisation because it involved in itself with
trade which spoilt the environment and promoted unacceptable working conditions
for labourers in the poor countries. It is felt that, World Trade Organisation causes
greater damage to the global environment. The main claim of the demonstration
at Seattle was the World Trade Organisation is not doing anything to ensure that
the products produced in adverse working conditions in different countries do
not enter into the stream of globally traded items. The question is whether it is the
business of World Trade Organisation to do so. Is it that the World Trade
Organisation should get involved itself with the labour and environment aspects

of production and trade ?
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There are some who argue that the effort to involve World Trade Organisation
with labour and environmental aspects of trade and production is actually a part
of larger effort by some developed countries. The obvious reason is that the
poor countries have lower production cost because of cheap labour and not very
high working conditions. This enables the poor countries to lead the global market
over the rich countries.

If both these claims are said to be correct, then World Trade Organisation is
deemed to be influenced and controlled by the wrong people.

Discuss in detail :
1) The basic limitations of World Trade Organisation.

2) To what extent the World Trade Organisation should and can interfere with
the working conditions ?

3) Is it fair to call World Trade Organisation as a WWrong Trade Organisation ?

5. Two parties, Shri Ghanashyam and Shri Radheshyam applied for registration of
trade mark. They were both rivals and used ‘Mathurag Ghee’ and ‘Mathura
Ghee’ trade marks respectively. Shri Radheshyam started using ‘Mathurag Ghee’
after laps of five years from the use of trade mark ‘Mathura Ghee’ which was
used by Shri Ghanashyam. Shri Radheshyam has popularized the trade mark
‘Mathura Ghee’ by investing huge amount on advertisement. The two trade names
were phonetically similar and there was no much difference in pictorials and
monogram i.e. the trade mark of the rivals. The only difference was word ‘G’
registration was granted to neither.

Discuss the case with reference to the provisions of Trade Marks Law and suggest
the plaintiff regarding the use of trade mark.

6. Inan E-trade Agreement, signature is based exclusively on asymmetric methods
or techniques. It has been described as a special door, which can be opened with
four keys lock. The two keys on every side of the door, and each of these keys
belong to a single party, both the parties stand respectively on each side of the
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door and both of them have different keys. One of them is co-incidental with the
key possessed by the other party, since they have agreed on the shape and
notches in the key (public key). However, the other party is not, and none of the
parties knowns exactly, what kind of notches the other key will have. One thing is
sure that the door can only be opened when the four keys are in it. Once both the
parties have locked the keys into the door it is possible to open it and for the
parties to be sure that, they can negotiate through that open door safely without
fear that an outsider might interfere in their business.

Discuss with reference to the authentication of electronic records using digital
signatures. 4
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M.Com. (Part - 1) Examination, 2010
Gr-B : ADVANCED COST ACCOUNTING AND COST SYSTEMS
Paper — | : Advanced Cost Accounting
(Optional Paper) (2002 Pattern) (Old)

Time : 3 Hours Max. Marks : 80

Instructions : 1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Use of non-programable calculator is allowed.
4) Answers to both the Sections should be written in the same
answer book.

SECTION - |

1. Attempt any two of the following. 10
a) Explain in brief the ABC method of classification of inventory.
b) Explain the concepts and use of Job evaluation and Merit Rating.

c) How the Research and Development costs can be treated in Cost Accounts ?

2. What is the difference between by-products and Joint Products ? Explain the

methods of distributing joint costs to the by-products. 15
OR
What do you mean by productivity ? Discuss the Technical, Financial and
Operational measures to improve productivity. 15
3. Write short notes on any three of the following. 15

a) Principles of Labour remuneration
b) Landed cost of materials

c) Features of job costing

d) Treatment of cost of finance

e) Business Process Re-engineering.

P.T.O.
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SECTION - I

4. A manufacturing Co. has three production depts. namely X, Y and Z and two
service depts. S, and S,,. The following data regarding overheads incurred during
the month of March are provided below. You are requested to calculate Machine
Hour Rate for absorption of overheads for the three production departments,
after making the primary and secondary distribution of overheads. Secondary

distribution is to be made directly and equally to production departments. 13
Rs.
Indirect Materials 5,000
Indirect Labour 7,500
Electric Power 9,000
Insurance 15,000
Depreciation 20,000
Labour Welfare 2,300

Other information of the departments :

Particulars Production Departments Service Depts.
X Y z s, S,

Direct Materials Rs. 6000 6000 6000 1000 1000

Direct Labour Rs. 6500 6250 6000 3425 500
Machine Hours 2500 2000 1500 - -
HP of Machines 5 4 3 2 1
Value of Assets Rs. 000 15 12.5 10 7.5 5
No. of workers : Direct 27 27 27 12 7
> Indirect 3 3 3 3 3
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5. Dadar Transport Pvt Ltd. owns a passanger Bus, which runs according to the
following schedule. 13

a) Dadar to Pune and back on the same day.

Distance covered : 150 kms. one way
Number of days each month : 8 days
Seating capacity occupied : 90%

b) Dadar to Nashik and back on the same day.
Distance covered : 120 kms. one way
Number of days, each month  : 10 days
Seating capacity occupied : 85%

c) Dadar to Surat and back on the same day.

Distance covered : 270 kms. one way
Number of days run, each month : 6 days

Seating capacity occupied :100%
The following are the details regarding expenses and other information of the
Bus.

Rs. Rs. p.m.

Cost of the Bus 12 lakhs Salary of Driver 6000
Road Tax p.a. 15000  Salary of conductor 4000
Permit fee p.m. 3150 Salary of a clerk 2000
Depreciation p.a. 20% Repairs 5000
Insurance p.a. 48000
Lubricant Oil per 100 kms. 100

Diesel required is one litre for 5 kms. and the cost of Diesel is Rs. 30 per litre.
Seating capacity of the Bus is 50.

Passenger Tax is 20% of the fare charged to the passengers. Calculate the Bus
fare to be charged to each passenger, so as to earn a profit of 30% on the fare
charged per km. What should be the fare for a) Dadar to Pune b) Dadar to
Nashik and c) Dadar to Surat, one way ?
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6. The following data is of A Ltd, a manufacturing Co., for the year ended

31t March 2010 :

Your are requested to prepare statements :

a) Showing the results as per costing records.
b) Showing the results as per financial records.
c) To reconcile the two results.

Particulars Costing records
Material used 20,000 kgs. Rs. 28.50 per Kkg.
Direct wages 3000 mandays Rs. 80 per manday
Factory overheads 20% of prime cost
Administration overhead Rs. 30 per kg. of output
Sales Overhead Rs. 50 per kg sold
Closing stock 2000 kgs At cost of production
Closing WIP Rs. 1,62,000
Sales 16000 kgs Rs. 130 per kg.
Rent income -

Preliminary expenses
written off -

14

Financial records

Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.
Rs.

Rs.

26 per Kkg.

85 per manday
3,60,000
4,00,000
9,60,000
1,50,000
1,62,000
129.50 kg.
1,20,000

30,000

B/1/10/1,190
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M.Com. (Semester — 11) Examination, 2010
FINANCIAL ANALYSISAND CONTROL
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory and carry equal marks.
2) Use of simple calculator is allowed.

1. CAPBUD Limited, Pune wantsto purchase anew machine for the Company.
Therearethreedternative machinesavail able, the detail sof which areasfollows:

Particulars Machine A Machine B Machine C
Cost Rs. 6,00,000 Rs. 5,00,000 Rs. 6,00,000
Life SYears SYears SYears
Y ear Net profit after depreciation and tax
1 70,000 10,000 (Loss) 1,50,000
2 60,000 30,000 1,00,000
3 50,000 50,000 50,000
4th 60,000 1,00,000 30,000
5th 70,000 1,50,000 20,000

Depreciation has been charged by straight line method. The Company
expects minimum rate of return at 10% at which the present value of
Rupee one to be received at the end of each year is given below :

Y ear 1 2 3 4 5
Present Value 0.909 0.826 0.751 0.683 0.621

You are required advise the management which of the alternative machinesis
the best on the basis of the following methods appraisal :

a) Pay back method

b) Averagereturn onaverageinvestment

c) Net PresentValue

d) Profitability Index.

P.T.O.
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2. The following are the estimated figures procured by Mr. CASBUD for the
period from June 2010 to September 2010 :

MONTHS SALES PURCHASES WAGES FACTORY OFFCE
Overheads Overheads

April (Actud) 4,00,000 1,80,000 60,000 40,000 6,000
May (Actud) 4,50,000 1,70,000 60,000 30,000 4,000

June 3,80,000 1,90,000 54,000 35,000 3,500
Jduly 3,60,000 1,70,000 72,000 40,000 5,000
August 3,80,000 1,60,000 66,000 35,000 6,000

September  4,20,000  2,00,000 54,000 38,000 7,000
October 3,80,000 2,70,000 60,000 42,000 6,500
ADDITIONAL INFORMATION :

a) 20% of the goods are sold on cash basis. 40% of the credit sales are
recovered in the next month while the remaining two months after.

b) 20% of the purchases are made by making an advance payment of one
month, 10% of the purchases are on cash basis while the remaining
purchases are made on 1 month credit.

c) 60% of the wages are paid to skilled workmen on monthly basiswhile the
remaining wages are paid to unskilled workmen on weekly basis.

d) Factory and Office overheads are fixed to the extent 40 % and 60%
respectively which are paid one month in arrear.

€) Variable overheads are paid in the same month.

f) Advance Income-tax Rs. 60,000/- isto be deposited in the month of June.
Interest on 20,000/-, 12% convertible debentures of Rs.10/- each, issued
2 yearsback at 20% premium, isdueon 1% July and 1% January every year.

g) Baance ason 30 June 2010 was Rs. 60,000/-.

You are required to prepare Cash Budget for the period from 1% June 2010
to 30" September 2010.

OR

2. Definetheterms‘Budget’ and ‘ Budgetary Control’ . Explain the importance
of an effective budgetary control system in alarge manufacturing organization.
Discussthe limitations within which such system isto be implemented.
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3. A) What iscost of capital ? Explainitsimportancein financial decisions. 8
B) COSTCAP Limited, Pune, wants to raise long term fund amounting to

Rs.40,00,000/ - by issuing equity shares, Preference Shares and Debentures
inany of thefollowing ratios:

Alternativel - 532

Alternativell -  2:35

Alternativelll - 321
The specific cost of capital isasfollows:

Equity Shares - 24%

Preference Shares - 18%

Debentures - 14%
You are required to advise the management as to the best aternative for the
Company. 8

OR

3. Thefollowing particulars are obtained from the cost records of afactory
manufacturing products ‘A’ and ‘B’ :

Particulars Product ‘A’ Product ‘B’
(Rs) (Rs)
Sdlling price 125 150
Material cost @ Rs.5/- per K.G 50 45
Labour Cost @ Rs.10/- per hour 30 50
Variable Overheads 20 25

Total fixed cost is Rs.50,000/-.

You are required to advise the management asto themost profitable salesmix
with the probable amount of profit in the following circumstances :

A) If themaximum raw material availableis 15,000 kg and maximum possible
sale of each product isonly 1000 units.

B) If the maximum availablelabour hours are 5000 and maximum sale of any
product is 1000 units.
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4. What is‘VarianceAnalysis ? Explain thevariousvariances and their importance
inthe managerial decision making.
OR

4. Thecost department of STDCOSLIMITED,Pune has provided you thefollowing
information about the standard material cost of 100 kg of a product and actual
cost of actual output of 500 kg. :

STANDARD ACTUAL
Raw material Quantity Rate Quantity Amount
(K.G)) (Rs) (K.G)) (Rs)
AB 30 5.00 140 770.00
BC 40 6.00 220 1,276.00
CD 80 7.00 440 3,300.00

You are required to calcul ate various material cost variances.

5. Write notes on any two of the following :
a) Internal Rate of Return
b) Break evenanalysis
c) Fixed budget and flexible budget.

B/1/10/16,780
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M.Com. (Semester — 11) Examination, 2010
Group F: CO-OPERATION AND RURAL DEVELOPMENT
| nter national Co-operative Movement (Paper —111)
(New) (2008 Pattern)

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Examinecritically therole played by the International Co -operativeAlliancein
the development of co-operative movement.

OR
Explain briefly the origin and growth of co-operative movement in theworld.

2. Explain therole of co-operative philosophy in co-operative movement.
OR

Can the co-operatives survive in a capitalistic system ?

3. Isit truethat the co-operatives have no role in the development of capitalistic
USA ?
OR

Examinetherole of co-operativesin the development of China.

4. Explain the economics of co-operation.
OR

Explain the emerging trends in co-operative institutions in the world after
globalisation.

5. Write short notes (Any two) :
a) Principles of co-operation
b) Concept of co-operation
c) Co-operation in mixed economy
d) Co-operationinYugoslavia.
P.T.O.
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T.Y.B.SC. (Semester — 1V) Examination, 2010
PHY SICS (Paper —V)
PH — 345 (B) : Advanced Electronics

Time: 2 Hours Max. Marks: 40

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Use of log tables and calculator is allowed.

1. Attempt all of the following (one mark each) : 10

a)
b)

c)
d)

€)
f)
9)
h)

)
)

What is Synchronous Counter ?
What is the difference between an OR gate and exclusive OR gate ?

What isthe supply voltage range over which 74C and 4000B families of
CMOS IC's can work ?

A snusoidd carrier isamplitude modulated to adepth of 20%. If the carrier
power is 20 KW, what must be the power contained in one of its sSide bands ?

Explain theterm numerical aperture.

List different types of pulse modulation.
What do you mean by combinational logic ?
State different applications of Karnaugh map.

If the pulse width of monostable multivibrator is 1 sec and capacitanceis
louf, what must be the value of resistance ?

List different types of ADC.

2. Attempt any two :

a)

Draw the functional block diagram of |C - 555 and explain function of each
pinterminals. S

b) Discuss the characteristics of output and speed with referenceto TTL and

CMOS integrated circuits. 5

c) What are indicators ? Why are LED’s popularly used as indicators ? 5
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3. Attempt any two :
a) What are fibre losses ? Explain absorption loss.

b) A sinusoidal carrier voltage frequency 10 MHz and amplitude 200V is
amplitude modulated by asinusoidal voltage of frequency 10K Hz producing
40% modul ation. Cal cul ate frequency and amplitude of upper and lower
Sde bands.

c¢) With suitable block diagram explain theworking of R - 2R D/A converter.
Discusstheadvantageof it over thewe ghted register type D/A converter.

4. A) Attempt any one :

a) With suitablediagram explain in brief the construction and working of a
single optical fiber.

b) i) Draw and explain modulating amplifier circuit.

1) A 20 MHz sinusoidal carrier wave of amplitude 0.01V ismodulated
by a8000 Hz sinusoidal audio sgna wave of amplitude5 mV. Cdculate
the frequency component of the resultant modulated wave and their
amplitude.

B) Attempt any one :

a) Anastable multivibrator using I C — 555 usesthe following component
values.
RA= 12 kQ RB= 12 kQ C=50 nf

Calculate the ON time period.

b) What is optoloupler ? Give its advantages.

B/1/10/
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M.C.A. (Commerce Faculty)(Semester — 1) Examination 2010
206 : OBJECT ORIENTED PROGRAMMING

Time : 3 Hours Max. Marks : 80

Instructions : 1) Black figures to the right indicate full marks.
2) All questions carry equal marks.
3) Assume suitable data, if necessary.

4) All questions are compulsory.
1. Attempt any four : (4x4=16)
a) What is object oriented programming ? Explain features of OOP in detail.
b) What are the memory management operator ? Explain in detail using C++.

c) What is application of scope resolution operator (::) in C++. Explain with
example.

d) Explain function overloading with example using C++.
e) Why is Java known as platform-natural language ?
2. Attempt any four : (4%x4=16)
a) How array of object is used in C++ ? Explain.
b) Explain use of operator overloading.
c) Explain use of static keyword in Java.
d) Write a program in C++ to check the entered number is prime or not.

e) What is a major difference between an iterface and a class ?

P.T.O.
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3. Attempt any four : (4%4=16)

a) Define constructor. Explain the execution process of constructor using Java.

b) “Inheritance is used to improve data hiding and encapsulation”. Justify.
c) What is similarities and difference between an interface and abstract class ?
d) Overriden methods in java looks a lot like virtual functions. Explain with e.g..

e) Explain the protected visibility mode with example.

4. Attempt any four : (4%4=16)
a) Write a C++ program to calculate factorial of a given number.

b) Write a C++ program to read any five real numbers and print the average

using the operator overloading “/’.

c) Create two classes dist 1(meter, centimeter) and dist 2(Feet, inches). Accept
two distance from user for respective class and display the sum and difference

as a result.

d) Write a program in Java which accept two strings from user. If string are same
display the message “strings are equal”. Otherwise create two strings and

display the result(Use command line argument).

e) Write a program in Java to print following O/P :

1
2 2
3 3 3



AR AR Y AREO 3-

5. A) Trace the output (Assume there is no syntax error).

a) # include <iostream.h>
class index
{
protected :
int count;
public :
index()
{count=0; }
void operator ++( )

{

count ++;

}
void display ()
{
cout << endl << count;
j
void main ()

{
index C;

C++;

C.display();

++C;

C.display();

[3770] — 266

(4%x2=8)
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b) Class Number
{
int X;
void store(Number num)

{

num.x++;

}

class MainNumber

{

public static void main (string args[])
{
Number n = new Number();
nx =10
n.store(n);
System.out.printin(n.x);

}

b) Attempt any two : (4%2=8)

a) Write a program which accepts two classes and find the maximum number
by using friend function.

b) Write a program in Java which will read a text and count all occurrences of
a particular word.

c) Create an abstract class shape. Derive three classes circle, rectangle and
sphere. Calculate area of each.

B/1/10/315
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M.Com. (Part - Il) (Optional) Examination, 2010
CO-OPERATION AND RURAL DEVELOPMENT (Special Paper - 1V)
Research Methodology and Case Studies (Old) (2002 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.

2) Figures to the right indicate full marks.
1. What is research ? What are the various types of research ? (20)
OR
Describe the various features of research design.
2. Explain various methods of data collection. (20)
OR

Describe the various steps in writing research report.

3. A) Write short notes (any two) : (20)
a) Selection of research problem.
b) Characteristics of good hypothesis
c) Use of computer in research

d) Utility of questionnaire in research.

B) What steps are followed while solving a case study ? (20)

OR

What kind of knowledge is required for problem solution in a case study ?

PTO.
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4. Ratnam co-operative sugar factory is a well established sugar factory in the co-
operative sector. It is situated at Ahmednagar district. Mr. Patil is a young Managing
Director of the sugar factory. Mr. Patil appointed as a M.D. by his father Mr.
Suresh Premnarayan Patil, who happened to be chairman then.There are two
registered unions in this co-operative sugar factory. One is that of workers of
office section. This union having 200 members (almost all office staff are union
members), and the other is that of production department workers (almost all
workers working in Production department are union members). 200 workers
also associated to this union. These two unions separately negotiate with the
management regarding the salary increase and other service conditions. The period
of last agreements with these unions got over in June 2000. There were couple of
rounds of negotiations with both the unions separately, but nothing positive came
out of these discussions. The agreement issue has been pending over for the last
15 months. Internal situation in the sugar factory is not at all conducive and

healthy. The workers of office and production department have already started

showing their “anger’ through slogans shouting , gate meeting and go slow tactics.

Very recently, the company secretary Mr. Balasaheb asked by the management to
put up a notice regarding withdrawal of leave benefits and reduction of bonus
percentage i.e. from 15% to 8.33%, with immediate effect. Mr. Balasaheb informed
management about effect of the notice and also gave legal reference. Management

did not listen to Mr. Balasaheb and he was compelled to put up notice.
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The situation in the sugar factory went out of control and office staff and production
department’s staff started serious agitations. They even started shouting slogans

inside the factory premises during lunch break. Go slow on the plant was made

more severe. (20)

Questions

1) Analyse the case

2) Comment on the action of management. Justify your answer.
3) Comment on the Union’s approach.

4) Give your constructive suggestions to improve the situation.

5. A co-operative food processing industry has got a number of drivers and many
trucks. One of the truck driver having 25 years faithful service and no blemish
record in the past, drove his vehicle on the wrong side of a National Highway,
struck car and killed three persons. He was also severely injured and was not
expected to servive. (20)
In view of the serious conditions of the driver, the industry did not take any
disciplinary action against him at that time. The board of directors and M.D.
supported him and paid him all the sick benefits and hospital costs as per settlement

for six months.
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The expiration of six months period is coming to an end and the driver will not be
able to return to his work within reasonable future. Discuss the following questions

with reasoning and analyse the case.

Questions

1) What action should be taken against the driver by the management ? Whether
he should be charge-sheeted and enquiry held or should be simply discharged

as per service rules ?

2) Whether the management was justified in not taking any action against driver

immediately after the accident ?

3) Whether the driver is entitled to claim compensation for accident and injuries

met to him in addition to retiring benefits ?
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M.Com. (Semester — 1VV) Examination, 2010
ADVANCED ACCOUNTING AND TAXATION (Optional)
(Special Paper — V1I1)

Case Studies in Accounting (New)

(2008 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Attempt question No. 1 which is compulsory and any
three of the remaining.
2) All questions carry equal marks.
3) Figures at right hand side indicate full marks.
4) Use of non-programmable calculator is allowed.

1. Comment on the following cases, referring necessary sections of relevant law, case
laws and any other supporting evidence and calculations, if any. 25

a) The Zig Zag Computers Ltd. in calculating book profit excluded its capital gain
as it is not taxable but the ITO wanted to include it in its total income.

b) Mr. Superman paid entire rent of Rs. 1.5 crore as a lease of Goldmine for 25
years and debited to the profit and loss account for the year ended 31-03-2010
and claimed it as an expenditure in his ITR.

c) Itisargued by the company that it need not provide depreciation on those assets
for which no rates have been prescribed under Companies Act, 1956. The AS-6
issued by the ICAI, states that depreciation should be provided on all depreciable
assets.

d) An auditor determines the Computed Upper Deviation Rate in a sample @ 6%.
His Tolerable Deviation Rate is 5%. He decides not to rely on the particular
internal control.

e) The e-bay. com Ltd. a reputed company in the field wants to sell its business but
cannot decide on the valuation of goodwill. The company consultant advises to
compute the goodwill by capitalising the adjusted profit for last 3 years. The
capital employed in the company is Rs. 12,48,00,000. The profit before charging
interest on capital @ 6% for 2007 was Rs. 54,16,000, for 2008 Rs. 1,00,48,000,
for 2009 was Rs. 97,60,000 and for 2010 Rs. 64,96,000. Please advise the
company how to arrive at current value of goodwill ?

P.T.O.
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2. How would you deal with the following cases ? 25

a) Asa part of a tax raid on your client, the authorities wish to seize all documents
and papers in your audit file relating to the client.

b) In above case the authorities ask you certain questions regarding the affairs of
your client.

c) In above case, apart from the files of your client, the authorities also, wish to
seize certain other documents relating to other clients not mentioned in the search
warrant.

d) During the course of audit of a company, you find that a sister concern has
indulged in massive tax frauds with the active involvement of the managing
director of the company. However the company itself has not committed any
fraud. Your partner advises you to communicate your findings to the I. Tax
authorities.

3. Comment on the following cases, referring necessary sections of I. Tax Act, 1961
and case laws, if any. 25

a) Paramount Ltd. borrowed loan of Rs. 90 crore to import a modern machinery
@ 24% interest, but the machinery was not used during the year and hence the
ITO refused to allow the payment of interest amounting to Rs. 16.20 crores.

b) As Mr. Shahrukh didn’t reply the letter claiming the payment of Tax, the ITO
declared him as defaulter.

c) ShriChidambaram changed his accounting method in last financial year but the
ITO refused to accept the same as no approval received by him from the
department.

d) Mr. Jitendra owning a residential property at Delhi where in his sister -in-law
resides. He, due to his employment resides in rented house in Mumbai. He
claims the Delhi property as self occupied but ITO refuses to accept his claim.
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4. You desire to invest Rs. 33 lakhs in equity shares in a Public Ltd. Company. You
want to know the fair value of shares and number of shares to be purchased. The
company’s record shows the following :

Paid up Share Capital - 5,50,000, 6% pref. shares of Rs. 100 each and 35,00,000
equity shares of Rs. 10 each.

Average net profit of the business is Rs. 75,00,000. Expected normal yield is 8% in
case of such equity shares. The net assets on revaluation are worth Rs. 70,00,000
more than the amount at which they are stated in the books. Goodwill, if there is
any, is to be calculated at 5 years purchases of the super profit without giving
consideration to I.Tax. 25

5. Stock Company has 100 switch boards in stock at the Balance sheet date on
31t March, 2010. The switch boards are valued at net realisable value since
their cost of manufacturing is very high. Of the 100 switch boards, 60 were
sold @ Rs. 5,000 each before signing accounts. 40 switch boards were in stock at
the date of signing accounts when the sale price was estimated @ Rs. 4,500. Of 40
switch boards, 20 were under contract @ Rs. 4,000 each and other 20 were to be
sold in the following month when the price is expected to be @ Rs. 4,800 each.
Determine the value of stock as on 31 March, 2010. 25

B/1/10/2,205
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M.Com. (Semester — IVV) Examination, 2010
Group - E : COMMERCIAL LAWS AND PRACTICES (Special Paper —
VII)
Recent Advances in Commercial Laws and Practices
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explain the following terms in detail, which fall under Information Technology
Act, 2002. 16
A) E-Governance
B) Adjudication
C) Cyber Regulation

OR
1. What do you mean by “Right to Information” ? What are the duties of Public
Information Officer ? 16
2. Explainthe following terms : 16

A) ListingAgreement
B) Deposit of Wills

C) Legal documents under Companies Act

OR
2. A) State the salient features of Right to Information Act. 8
B) Explain the Information Commission’s Powers. 8
3. Explain the powers and functions of Security and Exchange Board of India. 16
OR
3. A) Explain the powers of Tribunal regarding Recovery of Debt. 8
B) Explain the need and objectives of Debt Recovery Act, 1993. 8

P.T.O.
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4. What are the penalties for failure and default in inside trading and Non-disclosure
of Acquisition of shares ?

OR
4. A) Explain the procedure of tribunals under Debt Recovery Act 1993.
B) Write a detail note on Establishment of Tribunal.

5. Write short notes (any four) :
a) Importance of Securitization Act 2002.
b) Enforcement of Security Interest Act 2002.
c) Establishment of Appellate Tribunal.
d) Retention of Information.
e) Objects of Information Technology Act 2002.
f) Optional Registration.
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M.Com. (Semester — V) Examination, 2010
Group H: ADVANCED MARKETING
Paper VII : Recent Advancesin Marketing
(New) (2008 Pattern)

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Tracetheevolution and growth of strategic marketing management. Bring out the

importance of strategic marketing management.

OR

1. What do you understand by the term “ Integrated Maketing Communication” ?

Explain the process of integrated marketing communication.

2. Write adetailed note on types of retailing.

OR

2. Write an elaborate note comparing the Indian Retail scenario with the Global

retail scenario.

OR

3. Define Supply Chain Management. Elaborate upon the components and bring

out their interdependencies.
OR

3. What do you understand by Integrated Marketing Channels ? Elaborate with

referenceto horizontal, vertical and multi channel marketing system.
P.T.O.
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4. Bring out acomparison of thetechniques of Relation Marketing, whenitiscarried
out in an Industrial market and when it is carried out in aconsumer market.

OR

4. What do you understand by customer satisfaction ? Bring out the role of services
in contributing to customer satisfaction, in amanufacturing Industry.

5. Write short notes on any four of the following :
a) Strategic choice
b) Elementsof Integrated Marketing Communication
c) Channel conflict
d) FranchisinginRetailing
€) Government services
f) Database Marketing.
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M.Com. (Semester — V) Examination, 2010
Gr.A : ADVANCED ACCOUNTING AND TAXATION

(Optional) (Paper — VII) (2008 Pattern) (New)
Recent Advancesin Accounting, Taxation and Auditing

Time: 3Hours Max. Marks: 100

Instructions : 1) Attempt all questions.
2) All questions carry equal marks.
3) Figures at right hand indicate full marks.

1. Explaininthe context of ASand IFRS:
a) Recent Trendsin Disclosure of Accounting Policies. 10
b) Areasinwhich DifferingAccounting Policiesare encountered ? 10

2. What is GST ? Explain the salient features of the proposed GST Modd inIndia. 20

OR
Explain:
a) Accounting for Intellectual Property Rights. 10
b) Human Resource Accounting. 10
3. Explaininbrief : 20
a) Social Audit

b) Quality Audit.

4. Differentiate Indian GAAP and IFRSwith referenceto: 20
a) Non Current Assets
b) Business Combinations
c) IntangibleAssets
d) Property , Plant and Equipments.
OR
What do you mean by Forensic Accounting ? Explain its need and role. What
activitiesare usually carried out by Forensic Accountants ? 20
P.T.O.
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5. Write short notes (any four) : 20
a) Accounting for KPO
b) Accounting for retirement benefits
c) CreativeAccounting
d) Accounting for NGO grant
e) ESO (Employees Stock Option) Accounting
f) Environmental Accounting

g) Responsibility Accounting.

B/1/10/3,715
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M.Com. (Part — I) Examination, 2010
MANAGEMENT ACCOUNTING
(2002 Pattern) (Old Course) (Compulsory Paper)

Time : 3 Hours Max. Marks : 100

N.B. : 1) All questions are compulsory and carry equal marks.
2) Use of simple calculator is allowed.

1. Define the term “Management Accounting’. Distinguish between ‘Management
Accounting’ and ‘Financial Accounting’.

OR

1. What is Ratio Analysis ? Explain its importance and limitations in analysis of
financial statements.

2. The following are the Balance Sheets of CASHFLOW Limited, Pune, prepared
as on 31° March 2008 and 31* March 2009.

Liabilities 31-03-09 31-03-10 Assets 31-03-09 31-03-10
Share Capital 8,00,000 10,00,000 Plantand Machinery 5,00,000 6,00,000
General Reserve 1,50,000 2,00,000 Landand Building 8,00,000 7,60,000

Profit and Loss A/c  1,32,000 1,36,000 Furniture 1,00,000 40,000
Bank Loan 1,50,000 -- Sundry Debtors 80,000 1,20,000
15% Debentures 3,00,000 2,00,000 Stock 1,50,000 1,10,000

Sundry Creditors 96,000 86,000 Cash and Bank 50,000 60,000
Bills Payables 58,000 60,000 Preliminary expenses 30,000 20,000
Provision for taxation 24,000 28,000

17,10,000 17,10,000 17,10,000 17,10,000
P.T.O.
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You are required to prepare the Fund Flow Statement with necessary working
notes after considering the following information :

a) Dividend was distributed on the shares @ 15%.

b) Plant and machinery and Furniture was depreciated by 10% and Land and
Building was depreciated by 5%.

c) During the year Rs. 26,000 are provided for taxes.

d) During the year a machine costing Rs. 50,000/- having depreciated by 60%
was lost by fire and the Insurance Company has settled the claim at 80% of
the book value.

e) During the year some of the old furniture was sold @ 60% loss.

OR

2. From the different ratios given below prepare the Balance Sheet with as much
details as possible :

Currentratio 2.5
Liquidity Ratio 1.5

Net Working capital Rs. 6,00,000
Stock Turnover ratio 5

Gross Profit ratio 20%
Turnover to Net Fixed Assets 2
Average debt collection period 2.4 months
Fixed assets to Net Worth 0.8

Long term debt ?

3. The following are the estimates of Mr. C. Budget :
Months Sales Purchases Wages
Avpril 3,00,000 1,50,000 50,000
May 3,60,000 1,60,000 50,000
June 3,80,000 1,70,000 60,000
July 2,50,000 1,50,000 60,000
August 3,50,000 2,20,000 75,000
September  2,50,000 1,70,000 60,000

October 3,80,000 2,20,000 70,000
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Additional Information :

a) 80% of the total sales are on credit basis which can be recovered within
2 months.

b) 20% of the purchases are made by making an advance payment of one month,
10% of the purchases are on cash basis while the remaining purchases are
made on 2 months credit.

c) 70% of the wages are paid to skilled workmen on monthly basis while the
remaining wages are paid to unskilled workmen on weekly basis.

d) Factory overheads are 50% of the total wages and are to be paid with 15 days
in arreatr.

e) Office overheads are 40% of the factory overheads and are to be paid in the
same month.

f) Advance Income-tax Rs. 40,000/- is to be deposited in the month of July.
g) Balance as on 31% May 2010 was Rs. 1,00,000/-.

You are required to prepare Cash Budget for the period from June 2010 to
September 2010.

OR
3. A) What is Cost of Capital ? Explain its importance in financial decisions. 10

B) CCOST Limited, Pune, wants to raise long term fund amounting to
Rs. 30,00,000/- by issuing equity shares, preference shares and debentures in
any of the following ratios :

Alternative | - 2
Alternative I - 1:
Alternative 11 - 5:

w NN
N N

The specific cost of capital is as follows :

Equity Shares - 35%
Preference Shares — 18%
Debentures - 13%

You are required to advise the management as to the best alternative for the
Company. 10
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4. Mac Limited, Pune wants to purchase a new machine for the Company. There
are two alternative machines available, the details of which are as follows :

Particulars Machine A Machine B
Cost (Rs.) 8,00,000 6,00,000
Life 5 Years 4 Years
Year Net profit after depreciation and tax
1st 50,000 (loss) 1,50,000
2nd 50,000 1,00,000
3 1,00,000 1,00,000
4t 1,50,000 50,000
5th 2,50,000

Depreciation has been charged by straight line method. The Company expects
minimum rate of return at 10% at which the present value of Re. 1 to be received
at end of each year is given below :

Year 1 2 3 4 5

Present Value 0.909 0.826 0.751 0.683 0.621

You are required advise the management which of the alternative machines is the
best on the basis of the following methods of appraisal :

a) Pay back method

b) Average return on average investment

c) Net PresentValue

d) Profitability Index

5. Write notes on any four of the following :
a) Common size statement
b) CVP analysis
c) Budget Factor
d) Internal rate of return
e) Essentials of ideal Reports
f) Limitations of ManagementAccounting.

B/1/10/4,245
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M.Com. (Part - 1) Examination, 2010
Gr.-D : BUSINESS ADMINISTRATION
Paper — Il : Financial Management (Optional)
(2002 Pattern) (Old)

Time : 3 Hours Max. Marks : 100

Instructions : All questions are compulsory and carry equal marks.

1. What is Financial Management ? Explain the nature, scope and functions of
Financial Management.

OR
Explain the role of Financial Manager in Financial Management. Also explain the
challenges and opportunities of Financial Manager.
2. What do you mean by cost of capital ? Describe its uses in financial decision
making.
OR
What do you mean by the term “working capital” ? State the factors determining
the working capital requirement of any organisation.
3. What are the causes of business expansion ? State the various sources of funds
for business expansion.
OR
Explain the factors affecting the market value of shares.

4. Explain the symptoms of a sick unit. How a sick unit can be revived ?
OR
Discuss the objectives and importance of — “Human Resource Accounting”.

5. Write short notes on (any two) :
a) Business combination
b) Importance of Inflation Accounting
c) Foreign Exchange Market
d) Zero Base Budgeting. P.T.O.
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M.Com. (Part — 1) (Optional) Examination, 2010
Group E: SECRETARIAL PRACTICE AND COMPANY MANAGEMENT

(Paper —1)
L aws and Practices Relating to LPG
(Liberalization, Privatization, Globalization)

(2002 Pattern) (Old)
Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Define E-Commerce. Explain the advantages and disadvantages of E-commerce.

OR
What isHTML ? Explain the various features of HTML.

2. What is supply chain management ? State the goals, functions and benefits of
supply chain management.

OR

Explain thefollowing conceptsin E-commerce with suitable examples.

a) B2B b) B2C

3. Explain the following concepts according to Information Technology Act, 2002.
d) Retention of data messages

b) Internationa framework
OR

Write detailed noteson :
a) Cyber crimes and cyber laws

b) E-Governance.

P.T.O.
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4. Explain various provisions relating to ‘Offences and Penalties’ under the
Information Technology Act, 2002.

OR

Write noteson :
a) Carriage of goods
b) Time and place of Despatch of Data Messages.

5. Write short notes on (any four) :
a) E-commerce Modules
b) Front page explorer
c) Web page
d) Role of ISP
€) Miscellaneous provisionsunder I.T. Act, 2002
f) Formation and Validity of Contracts.
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M.Com. (Part — I) Examination, 2010
Group—E : SECRETARIAL PRACTICE AND COMPANY MANAGEMENT
Paper — 11 (Old) (Optional)
Intellectual Property Laws
(2002 Pattern)

Time : 3 Hours Max. Marks : 100
Instructions : 1) All questions are compulsory.

2) All questions carry equal marks.

1. Explain the concept and nature of the “Intellectual Property’. How does it differ
from other kinds of properties ?

OR

1. Explain the contribution of intellectual property to the economic and cultural
development of a country.

2. Who may apply for ‘Patent’ ? State the provisions for application for ‘Patent’.
OR

2. State the procedure for and duration of registration of trade mark.

3. State the provisions relating to falsification of trade-mark.
OR

3. What is copyright ? Explain the scope and objects of copyright.

4. What is Infringement of copyright ? Describe in detail the exceptions to the
Infringement of copyright.

OR

4. Discuss nature of offences and penalties under the Trade Mark Act, 1999.

P.T.O.
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5. Write short notes on (any four) :
a) Collective mark
b) Copyright societies
c) Patentagent
d) Invention
e) Falsification of Trade Marks
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M.Com. (Part — 1) (Optional) Examination, 2010
Group-F : CO-OPERATION AND RURAL DEVELOPMENT (Paper—I1)
Organisation and Management of Co-Operative Business
(Old) (2002 Pattern)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explain the concept of co-operation. What are the various principles of
co-operative management ?
OR
“The survival of co-operation depends on professionalisation” — Explain.

2. Explain the role of communication and leadership in co-operative management.
OR
Explain the need and problems in co-operative education and training.

3. Discuss various criteria for evaluating the performance of co-operative business.
OR
Evaluate the role played by co-operative marketing organisation in India.
4. “The policies of the government and the practices followed by sugar co-operatives
have created many problems” — Explain.
OR
Evaluate the performance of co-operative housing societies in India.

5. Write short notes (any two) :
a) Co-operative Audit.
b) Social responsibilities of co-operative business.
c) Industrial relations in co-operative business.
d) Role of directors in co-operatives.

P.T.O.
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M.Com. (Part — 1) (Optional) Examination, 2010
Group G : ADVANCED BANKING AND FINANCE (Paper—1)
Law and Practice of Banking
(2002 Pattern) (Old)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explain the provisions of the Banking Regulation Act, 1949 regarding :
1) Amalgamation of a Banking Company.

2) Winding up of a Banking Company.
OR
1. Explain the functions of the R.B.1. as spelt out in the RBIAct, 1934 with reference
to
a) Banker to the Government
b) Banker’s Bank
2. State and explain any five provisions of the Foreign Exchange ManagementAct,
1999.
OR
2. Explain, in detail, Section 42 of the RBI Act, 1934.
3. Who is a paying banker ? Explain the precautions a paying banker needs to take
in case of the following :
a) Form of the cheque
b) Date of the cheque
c) Funds of the customer
d) Material alteration and drawer’s signature.
OR

P.T.O.
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3. Whoisacollecting banker ? Explain the duties of collecting banker with reference
to the following :

a) Due care and Diligence in the collection of cheques.
b) Serve notice of Dishonour.

c) Collection of bills of exchange.

d) In respect of agent appointed for collection.

4. Define a customer to a bank. Explain the conditions under which banker-customer
relationship can come to an end.

OR

4. Explain, in detail, various asset-liability mismatches. What risks do you think
could emerge due to asset liability mismatches ?

5. Write notes on (any two) :
a) Parties to Garnishee order.
b) Statutory protection to paying banker.

c) Importance of capital adequacy.
d) Management of non-performing Assets.
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M.Com. (Part — 1) (Optional) Examination, 2010
Group G : ADVANCED BANKING AND FINANCE
(Paper-11) (2002 Pattern) (Old)

Central Banking and Monetary Policy

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
1. Hlustrate definition of money supply and liquidity by Reserve Bank of India.
OR
1. Describe structure and recent trends of India’s money supply.

2. Write notes on (any two)
a) Mutual Funds
b) Certificate of Deposit
c) Scope of Fiscal Policy
d) Objectives of Monetary Policy.

3. Explain the scope and tools of monetary policy.
OR
3. Discuss the effectiveness of selective credit control measures.
4. What is Monetary Management ? How it is implemented with the instruments of
reserve requirement and open market operations ?
OR
4. What is Exchange Control ? Explain the methods of Exchange Control.

5. Write notes on any two :
a) Licensing of banks
b) Amalgamation of banks
c) Need of exchange control
d) Control over management.
P.T.O.
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
101 : INFORMATION COMMUNICATION TECHNOLOGIES IN
BUSINESS

Time: 3 Hours Max. Marks: 80

Note : All questions are compulsory.
1. a) Explain communication process and importance of communication. 16

b) State cross cultural communication.

OR
a) What is mean by networking ? Explain wide area network.
b) What is intranet ? Difference between intranet and extranet.

2. @) What is oral communication ? Write down principles of effective oral
communication. 16

b) What is mean by formal communication ? Explain layout of business letter.
OR

a) What are different visual aids and audio video tools used communication? 16

b) Explain communication through email. What are different communication
software ?

3. a) Write down difference between LAN and WAN.

b) What is virtual Private network and advantages of VPN ? 16
OR

a) What is internal communication ? What are advantages of internal
communication ? 16

b) Write down details about National Informatics center.

P.T.O.
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4. a) What are current trends in communication technologies ? 8

b) Explain mobile communication services. 8
OR

a) ‘IT has significant role in business application’, Explain how ? 16

b) How teleconferencing system works ? Explain it.
5. Write short notes (any 4) : 16
1) Video conferencing
2) Telnet
3) Report writing
4) External communication

5) Mobile communication.

B/1/10/150
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
102: SYSTEM ORGANISATION AND MANAGEMENT

Time: 3Hours Max. Marks: 80
Instruction : All questions are compulsory.

1. Answer the following questions (any four) : 16
a) Define organisation. State two types of organisation.
b) What isplanning ?How it isdifferent from forecasting ?
c) Write anote on effective leadership.
d) What is transaction processing systems ?
€) Definecustomer relation management (CRM).

2. Attempt any two of the following : 16
ad) What isinformation system ?Write any two information system briefly.

b) Explain therole of internet in developing the information system in business
organisation.

c) Define management. Write nature and scope of management.

3. Attempt any four of thefollowing: 16
a) Define SWOT analysis.
b) What is delegation of authority ?
c) What arethe benefits of planning ?
d) What iseffective staffing ?
€) Define decision support system.

4. Write any two of the following : 16

a) What isinformation system ?Writetherole of information systemin abusiness
organisation.

b) Define E-commerce. What are the benefits available to business organi sation
from E-commerce ?

c) Define communication. What arethe principles of effective communication ?
P.T.O.
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5. Write short notes (any four) : 16
a) Software and Hardware
b) Theory X and theory Y of motivation.
c) MIS
d) Essential qualitiesof effectiveleadership.
e) Strategic planning.

B/1/10/145
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
103: PROGRAMMING FUNDAMENTALS
(C — Programming)

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions carry equal marks.
2) Assume suitable data, if necessary.
3) All questions are compulsory.

1. Attempt any four : (4%4=16)
a) Explain concept of nested control structure with suitable example.
b) Explainfollowing:
1) Keywords ii) Identifiers
i) Ternary operator Iv) Shift operators.
c) Describe any 4 string functions.
d) Write a short note on storage classes.

e) Explainadetails: Bit field operator.

2. Attempt any four : (4%4=16)

a) WriteaC programto display all even factorsof agiven number using function.

b) Write a C program to find gcd of 2 numbers using recursion.

c) Write a C program to accept aline from user and count no. of wordsin it.

d) Write a C-program to divided a/b without using ‘/* operator.

€) WriteaC-program to print following pattern.
1 2 3 4
1 2 3
1 2
1

P.T.O.
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3. Attempt any four : (4%4=16)
a) Writeanote on pointer arithmetic.
b) Definefollowing file handling commands.
i) feof () i) fseek ()
iii) fputc () Iv) fscanf ()
c) Explain conditional compilation preprocessor.
d) Explain Nested structuresin detail.
€) Distinguish between structure and union.

4. Trace the output (any 4) : (4%4=16)
a voidmain ()
{
char name[20] = “ANIL KUMAR GUPTA” ;
printf (“% s\n”, name) ;
printf (“% 20 s\n”, name) ;
printf (% 20.10 s\n”, name) ;
printf (*% 0.5 s\n”, name);

}
b) void main ()
{
int X =0;
for (;;)
{

if (X++==4) break ;
continue;

}
printf (“X =%d \n", X) ;



c) voidmain ()

{
inti=0;
for(1=0;1<20;i++)
{
switch (i)
{
cae0:i+=5;
casel:i+=2;
cae2:i+=5;
default : i + = 4;
break ;
}
printf (“%d”, i) ;
}
}
d) voidmain ()
{
inti=2;
twice(i) ;
printf (“%d", i) ;
}
twice(inti)
{
1=i*2;
}
€) voidmain ()
{

inti=strlen (“BLUE") + Strlen (“Purple”) /
strlen (“red”) —strlen (“green”) ;

printf (“%d", i) ;

[3770] — 163
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5. Attempt any four : (4%4=16)

a) Write a C-program to accept details of an employee such as emp-no., name,
dept and salary. Assume maximum 10 employeesin the department. Writea

function to print average salary of the employees.

b) Write a C program to accept afilename as command-line argument and print

the content of thefilein reverse order.
c) Write a C-program to find row sum and column sum of mxn matrix.

d) WriteaC-program to accept item-detailsfor 10 itemssuch as, item-no, name
and price. Passastructureto the function as a parameter which will increase

the price of each item by 10%.

€) Write a C-program to compare 2 strings without using standard library

functions using pointers.

B/1/10/155
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
104 : STATISTICAL AND NUMERICAL METHODS

Time: 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator and statistical table is allowed.
4) Symbols and abbreviations have their usual meanings.

1. Attempt any three of the following : (5 each)

a) Find the root of the equation x° + 5x + 1 = 0 between x =—1 and x = 0, using
bisection method.

b) Use Newton Raphson’s method to find a root of the following equation,
x*+x2-30=0

c) State general quadrature formula. Obtain Simpson’s %rd rule from it.

d) From the following table find the first and second derivative at x = 1.5.

X 0.0 0.5 1.00 1.5 2.0

y 10.3989 | 0.3521 | 0.2420 | 0.1295 | 0.0540

e) Prepare a table of differences for the function f(x) = x® + 5x — 7 for
x=-1,0,1, 2, 3, 4,5 and obtain f(6).
2. Attempt any three of the following : (5 each)

a) Explain the method of finding r'" root of a given number using Newton-Raphson
formula.

b) From the following data, find y when x = 1.45

x| 1 1.2 14 1.6 18 | 2.0

y 100 -0.112 -0.016 |0.336 | 0.992 | 2

Use Newton’s forward interpolation formula.

P.T.O.
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1
d
c¢) Evaluate IXZ dX py using Simpson’s %r rule (Take h =0.1).
0

d) Find the percentage number of criminals under 35 years by Lagrange’s
interpolation formula.

Age Percentage number of Criminals
Under 25 years 52
Under 30 years 67
Under 40 years 84
Under 50 years 94

d
e) Find the solution of d_::=1+ XYy , which passes through (0,1) in the interval

(0, 0.2) by Picard’s method including third approximation (Take h = 0.1).
3. Attempt any three of the following : (5 each)

a) Explain meaning of ‘Time series’. State different components of *Time Series’.
Further explain any one component of the “Time Series’.

b) Explain Chi square test of independence of two attributes with 2x2 contingency
table.

c) The following time series shows sales in thousands of a particular product.

Year |1 |2 |3 |4 |5 |6 |7 |8 |9

Sales 100|130 |115)100 |85 ' 115|140(135|95

Fit a linear trend equation by the method of least squares.

d) The prices of share (in Rs.) of Titan watches observed on 10 different days in
a month were given as follows :
66, 65 69, 70, 69, 71, 70, 63, 64, 68.

Test whether the mean price of shares in a month is Rs. 65. Use 1% level of
significance.

e) Define normal distribution with mean m and variance 2. Further state the
properties of normal distribution.
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4. Attempt any three of the following : (5 each)

a) Explain the following terms used in testing of hypothesis.
I) Alternative hypothesis
i) Type Il error

i) Level of significance.
b) Explain the procedure for testing H, : 67 = o5 against H, : 6% # 65

c) The weight of food packed in certain containers is normally distributed random
variable with mean weight of 500 gms and standard deviations of 5 gms.
Suppose a container is picked at random, find the probability.

i) It contains the weight between 491 to 498 gms

i) It contains the weight less than 497 gms.

d) Theory predicts that the proportion of beans in 3 groups A, B and C should
be intheratio 1: 2 : 3. In an experiment on 300 beans the frequencies in the
three groups were found to be 45, 105 and 150 respectively. Test at 5% level
of significance whether an experiment supports the theory.

e) Explain the method of estimating trend by graphical method used in ‘Time
Series’.

5. a) Use Runge-Kutta method of second and fourth orders to approximate y when

d
x=0.1and x =0.2. Given that x =0 wheny =1 and §=X+Y.

Comment on your result. 10
OR

d
a) Definey(0.02) andy(0.04) using Euler’s modified method, given that, ﬁ =x° + Yy,

y(0) = 1. 10
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5. b) The following data give the sales (Y,) (in thousands) of a company for the
year (t) 1998 to 2005.

t | 1998

1999

2000

2001

2002

2003

2004

2005

Y 55

87

72

91

75

57

95

70

Calculate 4- yearly centered moving averages.

OR

10

b) Estimate trend using 10% smoothing constant for the following time series.

10

38 |40

40

38 |32

28

26

28

10

B/1/10/170
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
105: OPERATING SYSTEMS
Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) Neat diagrams must be drawn wherever necessary.
1. Attempt any four of the following : 16
a) Explain mainmemory.
b) Compare preemptive and nonpreemptive scheduling.

c) What is critical section problem ? Which requirement must be satisfied by
solution to the critical section ?

d) Define spooling. Why is spooling necessary for batch programming ?
€) Describe directory structuresin details.

2. Attempt any four of thefollowing: 16
a) Explain servicesprovided by kernal.
b) Explain second chance algorithm.
c) Explain the necessary conditions for a deadlock to occur.
d) Explain various types of system programs.
e) Why ismemory compaction required in MVT ? Explain with suitable eg.

3. Attempt any four of thefollowing: 16

a) Consider the following set of processes with the length of CPU burst time
and arrival timegivenin milliseconds.

Process Burst time Arrival time
P, 5 1
P, 6 0
P, 2 1
P 4 0

4

P.T.O.
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Illustrate the execution of these process using round robin CPU scheduling
algorithms. Also calculate wait time and turn around time of each process and
calculate average waiting time and averageturn around timefor above situation .
And aso draw the Gantt chart. Assume time quantum = 3.

b) Explainin brief “tree structured directory” method of file access.
c) What are advantages and disadvantages of time sharing system ?
d) Explainlong term scheduler with diagram.
€) Explainthereader-writer problem. What isthe solution for it ?
4. Attempt any four of the following ; 16
a) Consider thefollowing page-reference string
1,2,3,4,2,1,56,2,1,2,3
how many page faultswill occur for following page replacements algorithms,
assuming 3framesall areinitially empty.
— FIFO

b) Consider the following snapshot of system A, system has 5 processes.
P.. P, P, P, P, and four resourcestype R, R, R, R,.

Allocation M ax Available
R, R, R, R, R, R, R, R, R, R, R, R,
P 0 0 1 2 P 0 0 1 2 1 5 2 0
P 1 0 0 O P 1 7 5 0
P, 1 3 5 4 P, 2 3 5 6
P, 0 6 3 2 P, 0O 6 5 2
P 0 0 1 4 P 0O 6 5 6

Answer the following question using banker’sagorithm.
1) What are the content of Matrix need ?
2) Isthe system in a safe states ?

c) Explainindetail MFT job scheduling.

d) Write anote on 1/O ports.

€) Write note on compaction.



AR O 3 [3770] — 165

5. Attempt any four of the following 16

a) Definethefollowingterms:
1) Demand paging
ii) Buffering
i) Context switch
Iv) Belady’sAnomaly

b) Explain protection offered by paging system.

c) What arethe five major activities of an operating system in regard to process
management ?

d) Writeanoteonlocality.

e) “Virtual memory allowsthe execution of processesthat may not be completely
inmemory” Justify.

B/1/10/165
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M.C.A. (Commerce Faculty) (Semester — I) Examination, 2010
106 : SOFTWARE ENGINEERING

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw diagrams wherever necessary.

1. A manufacturing company having a strength of 500 employees, proposes to
computerise pay-roll system for monthly salary disbursement. HR department sends
the employee details such as promotions, appointments, resignation etc. to pay
section . Account department sends earning and recovery details. Time office sends
attendance, over time and leave details of employee to pay section. All the details
are sent to the section on or before 1* of every month. Salary is calculated and
pay-slips are disbursed to employees on 4™ of every month. With these details
draw the following with proper label.

a) Context Level DFD. 4
b) First Level Data flow diagram. 6
c) Structure chart. 6
2. Answer the following : (any four) (4%4=16)

a) Draw decision table for the following :

Eligibility criteria for university examination for post graduate student is-

1) Maharashtra domicile student should acquire minimum 45% marks in Basic
graduation.

2) Non-Maharashtra domicile student should acquire minimum 55% marks in
Basic graduation.

3) Concession of 5% considered, if student has represented university at national
level in any sports event.

b) What are various types of systems with respect to software Engineering ? Give
examples.

P.T.O.
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c) State and explain role of user in various phases of SDLC.
d) Define Quality. Explain capability maturity model in detail.
e) What is Maintenance ? Explain its types in detail.
3. Explain the following in detail : (any four) (4x4=16)
a) Explainwater fall model detail.
b) Explain need of system analysis in SDLC.
c) Explain traditional approach of implementation with suitable diagram.
d) When you conduct FTR ? Explain its objectives.
e) Explain Normalization technique with suitable example.
4. Write notes on the following : (any four) (4x4=16)
a) Tuning and optimization
b) Object oriented modelling
c¢) I1SO : 9000 Quality standards
d) Data codification scheme
e) Training methods.
5. Differentiate between : (any four) (4x4=16)
a) Physical DFD and Logical DFD
b) Open and closed system
c) Deterministic and probabilistic system
d) Testing and Debugging

e) Re-engineering and Reverse Engineering.

B/1/10/155
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M.Com. (Part — 1) Examination, 2010
PRINCIPLES OF MANAGEMENT AND MANAGEMENT
INFORMATION SYSTEM
(2002 Pattern) (Old)

(Compulsory)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
1. Define the term Management. Explain the nature and principles of management.

OR

1. Write notes on :
a) Mc Gragor’s theory X and Y.

b) Barriers to communication.

2. What is functional organisation ? Explain its advantages and disadvantages.

OR

2. Write notes on :
a) Advantages of decentralisation.

b) Principles of direction.

3. What is Management Information System ? State its features and advantages.

OR

3. Write notes on :
a) Objectives of performance appraisal.

b) Importance of merit rating.
P.T.O.
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4. Explain the term “Management of change”. State the reasons for resistance to
change by people.

OR

4. Write notes on :
a) Limitations of control

b) Management of crisis.

5. A) Explain various purposes of case study.
B) State various steps involved in case study.
OR

5. Inaparticular factory the work study Engineer from the factory showed excellent
interest and promising competence at the end of the theoretical sessions of
workshop. The management of the firm was also very progressive and the work
study Engineer did not lack any support from the top management. This intelligent
approach to several specific instances of work was also blessed by the workers
approval.

During the project work, however, he undertook the study of a department, which
was managed by a technician holding a position senior to him in the same company.

Blinded by his success in previous instances, the work study engineer not only
failed to consult the senior departmental manager but openly complained to the
top management against his departmental head. Knowing the attitude of the work
study engineer, the departmental manager adopted an antagonistic attitude to
work study and pointed out that further changes made by the work study Engineer’s
ideas unnecessary. Their personal relations, untimely proved to be the biggest
handicap to successful application of work study.

Analyse the case and suggest solutions.
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M.Com. (Semester — 1) Examination, 2010
RESEARCH METHODOLOGY FOR BUSINESS
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions : i) All questions are compulsory.
i) All questions carry equal marks.

1. Define the term “‘Business Research’. Explain its objectives and importance in
Modern Business World.

OR

1. A) Explain the role of Case Study method in Business Research.

B) State the various sources of collecting business information.

2. Write short notes (any four) :
a) Use of internet in Business Research.
b) Secondary Data.
c) Types of Questionnaire.
d) Principles of tabulation.
e) Capital market

f) Action Research.

3. Define Case Study Method. Explain major steps of Case Study Method.
OR

3. What is ‘Research Paper’ ? Discuss the general layout of Research paper.

P.T.O.
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4. What is a ‘Research Topic’ ? What are the various sources of Research topic ?
OR

4. a) Explain the essential qualities of a good Research report.
b) State the purposes of a project report.

5. Write short notes (any four) :
a) Importance of Index
b) Sampling Technique
c) Research problem in sales and marketing
d) Research Design
e) Abstract
f) Data Base Management system.
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M.Com. (Semester —11) Examination, 2010
ADVANCED ACCOUNTING & TAXATION
Special Areasin Accounting (Group A)
(Course Code: 203)

(Paper —111)

Time: 3Hours Max. Marks: 100

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.
3) Use of Pocket calculator is allowed.

1. The Balance sheet of A Ltd. and B Ltd. as on 31t March 2010 are asfollows:

Balance sheet
Liabilities A Ltd. B Ltd. Assets A Ltd. B Ltd.
Rs. Rs. Rs. Rs.
Equity shares Sundry Assets 30,00,000 14,00,000
of Rs. 10 each 20,00,000 12,00,000
General Reserve 4,00,000 2,20,000 40,0000
Creditors 6,00,000 3,80,000 40,000 Equity
sharesinA Ltd.
30,00,000 18,00,000 30,00,000 18,00,000

A Ltd. absorbed B Ltd. on the basis of intrinsic value of shares. The purchase
consideration isto be discharged in fully paid equity shares. A sum of Rs. 1,00,000is
owed by A Ltd. to B Ltd., also included in the stock of A Ltd. is Rs. 1,20,000 goods
supplied by B Ltd. at cost plus 20%.

Give journal entries in the books of B Ltd. and A Ltd. Also show the calculation of
purchase consideration.

OR P.T.O.
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Following isthe Balance Sheet of A Ltd. ason 31-03-2010:

Balance Sheet
Liabilities Rs. Assets Rs.
Equity shares of Plant 9,00,000
Rs.10 each fully paid 20,00,000 Furniture 2,50,000
8% Preference shares 6,00,000 Peatents 70,000
of Rs.100 each

9% Debentures 12,00,000 Investments
Bank overdraft 1,50,000 (Market value55,000) 68,000
Sundry creditors 592,000 Stock Debtors 14,00,000
14,39,000
Cash and Bank 10,000
Profit and Loss Alc 4,05,000
45,42,000 45,42,000

The following scheme of reconstruction wasfinalised :

a) Preference shareholders would give up 30% of their capital in exchange for
allotment of 11% Debenturesto them.

b) Debentureholders having charge on plant would accept plant in full settlement
of their dues.

c) Stock equal to Rs. 5,00,000in book vauewill betaken over by Sundry creditors
infull settlement of their price.
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d) Investment value to be reduced to market dues.

€) The company would issue 11% debentures for Rs. 3,00,000 and augment its
working capital requirement after settlement of bank overdraft.

Pass necessary Journal entriesin the books of the company. Also prepare Balance
sheet of the company after internal reconstruction.

2. Construction Ltd. is engaged on two contracts A and B during the year. The
following particulars are obtained at the year end (Dec. 31) :

Contract ‘A’ Contract ‘B’

Date of Commencement April 1 September 1
Contract price Rs. 6,00,000 Rs. 5,00,000
Materialsissued 1,60,000 60,000
Materiasreturned 4,000 2,000
Materialson site (Dec. 31) 22,000 8,000
Direct labour 1,50,000 42,000
Direct expenses 66,000 35,000
Establishment expenses 25,000 7,000
Pant installed at cost 80,000 70,000
Value of plant (Dec. 31) 65,000 64,000
Cost of work not yet certified 23,000 10,000
Value of work certified 4,20,000 1,35,000
Cash received from contractee 3,78,000 1,25,000

Architect’'s fees 2,000 1,000
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During the period, materials amounting to Rs. 9,000 have been transferred from
contract A to contract B. You are required to show :

a) Contract A account and contract B account.
b) Extract of Balance sheet as on Dec. 31.

3. FromthefollowingTrial Balance of Manish Education Society asat 31st March 2010,
prepare an Income and Expenditure Account and a Balance sheet :

Particulars Rs. Particulars Rs.
Cash in hand and at bank 23,200 Capital fund 15,56,600
Sundry Expenses 1,500 Donations 72,000
Prize fund, Bank balance 1,100 (to be capitalized)

Prize awarded 1,600 Prize Trust Income 2,600
Prize Trust Investments 63,200 Prize Trust fund 64,000
Subscriptions of Journals 4,800 Investment

Examination expenses 2,600 Reserve Fund 60,000
Taxes 3,200 Creditors 58,000
Stationery 4,000 Entrancefees 60,800
Staff salaries 40,800 Examinationfees 9,600

Sundry Debtors 20,000 Subscription received 80,000



General Investments

-5

6,00,000 Certificatefees

Building 11,00,000 Hireof Hall
Furniture 50,000 Interest on Investments
Additions 12,800 Sundry Income
Books 70,000
Additions 17,200

20,16,000

[3770] — 203

2,000
26,000
22,000

2,400

20,16,000

Thefollowing further information is supplied to enable you to make the necessary

adjustments:

Subscriptions to be received Rs. 18,000

Subscription received in advance Rs. 2,000

Interest on general investments accrued Rs. 1,800

Staff salaries outstanding Rs. 7,200

Taxes paid in advance Rs. 600

Provide depreciation at thefoll
Books 15% p.a.
Furniture 5% p.a.

Building 1% p.a

owing rateson:
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4. @ Mr. Niranjay occupies aroom in athree star hotel at Mumbai, he checksin the
hotel at 9.00 p.m. on 15" March 2010. He is to be charged at Rs. 1,500 for
every night spent plus 10% as service charges. Compute the amount payable by
Mr. Niranjay in each of thefollowing circumstances.

i) If he checks out at 10.00 am. on 161 March 2010
ii) If he checks out at 6.00 p.m. on 16" March 2010
iii) 1f he checks out at 6.00 p.m. on 17t March 2010

iv) If he checks out at 8.00 p.m. on 18" March 2010

b) A fivestar hotel has350 roomsavailablefor letting out. On aparticular day 300

rooms were occupied by 350 guests. Calculate the double occupancy rate.
c) Give the speermen of aDaily Log Book of aroadways (transport) company.

5. @ Explainindetail accounting for government grants.

b) Describein brief the accounting at the time of payment of excise duty.
OR

Write short notes on any four of the following :

a) FringeBenefit Tax.

b) Demerger.

c) Financial reporting in respect of merchant bankers.
d) Accounting of state level value added Tax.

€) Basicsof service tax.

f) Hospital accounting.

B/1/10/
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M.Com. (Semester —11) Examination, 2010
ADVANCED ACCOUNTING AND TAXATION
Special Paper — 1V
2) Business Tax Assessment and Planning
(Group —A) (2008 Pattern) (New)

Time: 3 Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Read all the questions very carefully before attempting the
guestion.

1. Write short notes on any four of the following : 12

a) Types of return of income
b) Powers of Central Board of Direct Taxes.
c) Concept of tax evasion
d) Input VAT
e) Meritsof VAT
f) Tax collection at source (Sec. 206 C)
g) 'Loss return under income tax rules.
2. Answer any two of the following : 12
a) What are the demerits of VAT under Indian Context.
b) Write essay note on "Service Tax Return” under Service Tax Law.
c) Explain the procedure of payment of service tax under Service Tax Law.

d) Explainthetax planninginrelationto business.
P.T.O.
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3. M/sX Co. apartnership firmof Mr. X, Y and Z which satisfy all the conditions of
Sec. 184 and 40 (b). The income statement of the firm for the year ending
318 March, 2010 isasfollows:

Particulars Rs. Rs.
Sales 26,00,000
Add : Rent of House property 50,000
(Half Portion)
Add : Interest on Debenture 60,000
(Non trade investment) — 27,10,000

Less : Expenses

1) Cost of Goods sold 7,90,000
i) Remuneration to partners 15,55,000
(X - Rs. 6,00,000
Y - Rs. 9,00,000
Z - Rs. 55,000)
i) Income Tax 8,000
IvV) Interest to Partners @ 13.5%  1,10,000
(X - Rs. 40,000
Y - Rs. 10,000
Z - Rs. 60,000)
v) Municipal taxesof entire 5,000

house property
vi) Other Expenses 2,10,000 26,78,000
Net Income Rs. 32,000
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Other information :

1) Other expensesinclude Rs. 48,500 not deductible as per Sec. 36 and Sec. 43 B
of Income Tax Law.

2) On Dec. 15, 2009 the firm has paid outstanding sales tax liability of Rs. 2922/-
of the previous year 2008-09. As this amount pertains to the previous year
2007-08 it has not been debited to expenses account.

3) The firm owns a house, the ground floor is used for business purpose. The
first floor is given on rent. Municipal tax is paid on 101" May, 2010.

4) 'Z'isnot aworking partner.

Find out the net income and tax liability of the firm for the assessment year
2010-11. 16

4. A) Ms. Saniaand Mr. Shoab enter into a partnership which is neither registered
nor the partnership deed is prepared. They disclose following details of their
assets, properties and liabilities as on 315t March, 2010.

a) Gold coins and silver sticks Rs. 12 crores.

b) Cash credit against the stock of Gold coins and silver sticks Rs. 5.75
crores.

c) Building and land attached to it Rs. 5 crores (WDV 20% less than above
vauation)

d) Disputedincometax payment Rs. 21 lakhs. Calculate net wealth taxablein
the above case. 6

B) Mr. Udyojak submit following details of his operations for March, 2010.
Calculate VAT payable by him for the year 2009-10.

Rs.
i) Sales (Net) of VAT @ 12.5% 9,84,375/-
i) Sales (Net) of VAT @ 8% 6,62,400/-
i) Purchases (Net) of VAT @ 8% 6,25,600/-

iv) Purchases (Net) of VAT @ 12.5% 11,81,250/- 6



[3770] — 204 4 RO A A A

5. Haritfieldisacooperative society engaged in the processing of agricultura produce
of itsmembers. It carriesonitsactivitieswithout the aid of power. It furnishesthe
following particulars for the assessment year 2010-11 from which compute total
income of society and itsincometax liability.

1) Income from processing agriculture produce without the aid of power
Rs. 38,500/-

2) Income from marketing agricultural produce Rs. 12,000

3) Dividend from other cooperative societies Rs. 41,400

4) Income from letting out its godowns Rs. 24,000

5) Income from commission Rs. 31,000

6) Profits and gains of other business Rs. 75,000. 16

6. Inorganic Growth Ltd. submits detailsfor the year 2009-10 relevant to the
Assessment year 2010-11. Calculate amount of advance tax payable on respective
due date by the company with your remark. 12

a) TDS at source by our suppliers and others Rs. 95,000.

b) Income tax refund received Rs. 1,50,000.

c) Disputed tax liability of Rs. 4,50,000 paid for the previous year 2008-09.

d) Tax deducted at source by usfrom the bills of our customers of Rs. 2,90,000.
(60% of the sameisactually deposited with income tax department)

€) Expected turnover Rs. 90 lakhsand Net profit as a percentage of sales 12.25%.

B/1/10/5,830
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M.Com. (Semester —11) Examination, 2010
ADVANCED ACCOUNTING AND TAXATION
Special Paper — 1V
2) Business Tax Assessment and Planning
(Group —A) (2008 Pattern) (New)

Time: 3 Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Read all the questions very carefully before attempting the
guestion.

1. Write short notes on any four of the following : 12

a) Types of return of income
b) Powers of Central Board of Direct Taxes.
c) Concept of tax evasion
d) Input VAT
e) Meritsof VAT
f) Tax collection at source (Sec. 206 C)
g) 'Loss return under income tax rules.
2. Answer any two of the following : 12
a) What are the demerits of VAT under Indian Context.
b) Write essay note on "Service Tax Return” under Service Tax Law.
c) Explain the procedure of payment of service tax under Service Tax Law.

d) Explainthetax planninginrelationto business.
P.T.O.
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3. M/sX Co. apartnership firmof Mr. X, Y and Z which satisfy all the conditions of
Sec. 184 and 40 (b). The income statement of the firm for the year ending
318 March, 2010 isasfollows:

Particulars Rs. Rs.
Sales 26,00,000
Add : Rent of House property 50,000
(Half Portion)
Add : Interest on Debenture 60,000
(Non trade investment) — 27,10,000

Less : Expenses

1) Cost of Goods sold 7,90,000
i) Remuneration to partners 15,55,000
(X - Rs. 6,00,000
Y - Rs. 9,00,000
Z - Rs. 55,000)
i) Income Tax 8,000
IvV) Interest to Partners @ 13.5%  1,10,000
(X - Rs. 40,000
Y - Rs. 10,000
Z - Rs. 60,000)
v) Municipal taxesof entire 5,000

house property
vi) Other Expenses 2,10,000 26,78,000
Net Income Rs. 32,000
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Other information :

1) Other expensesinclude Rs. 48,500 not deductible as per Sec. 36 and Sec. 43 B
of Income Tax Law.

2) On Dec. 15, 2009 the firm has paid outstanding sales tax liability of Rs. 2922/-
of the previous year 2008-09. As this amount pertains to the previous year
2007-08 it has not been debited to expenses account.

3) The firm owns a house, the ground floor is used for business purpose. The
first floor is given on rent. Municipal tax is paid on 101" May, 2010.

4) 'Z'isnot aworking partner.

Find out the net income and tax liability of the firm for the assessment year
2010-11. 16

4. A) Ms. Saniaand Mr. Shoab enter into a partnership which is neither registered
nor the partnership deed is prepared. They disclose following details of their
assets, properties and liabilities as on 315t March, 2010.

a) Gold coins and silver sticks Rs. 12 crores.

b) Cash credit against the stock of Gold coins and silver sticks Rs. 5.75
crores.

c) Building and land attached to it Rs. 5 crores (WDV 20% less than above
vauation)

d) Disputedincometax payment Rs. 21 lakhs. Calculate net wealth taxablein
the above case. 6

B) Mr. Udyojak submit following details of his operations for March, 2010.
Calculate VAT payable by him for the year 2009-10.

Rs.
i) Sales (Net) of VAT @ 12.5% 9,84,375/-
i) Sales (Net) of VAT @ 8% 6,62,400/-
i) Purchases (Net) of VAT @ 8% 6,25,600/-

iv) Purchases (Net) of VAT @ 12.5% 11,81,250/- 6
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5. Haritfieldisacooperative society engaged in the processing of agricultura produce
of itsmembers. It carriesonitsactivitieswithout the aid of power. It furnishesthe
following particulars for the assessment year 2010-11 from which compute total
income of society and itsincometax liability.

1) Income from processing agriculture produce without the aid of power
Rs. 38,500/-

2) Income from marketing agricultural produce Rs. 12,000

3) Dividend from other cooperative societies Rs. 41,400

4) Income from letting out its godowns Rs. 24,000

5) Income from commission Rs. 31,000

6) Profits and gains of other business Rs. 75,000. 16

6. Inorganic Growth Ltd. submits detailsfor the year 2009-10 relevant to the
Assessment year 2010-11. Calculate amount of advance tax payable on respective
due date by the company with your remark. 12

a) TDS at source by our suppliers and others Rs. 95,000.

b) Income tax refund received Rs. 1,50,000.

c) Disputed tax liability of Rs. 4,50,000 paid for the previous year 2008-09.

d) Tax deducted at source by usfrom the bills of our customers of Rs. 2,90,000.
(60% of the sameisactually deposited with income tax department)

€) Expected turnover Rs. 90 lakhsand Net profit as a percentage of sales 12.25%.

B/1/10/5,830
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M.Com. (Semester — 11) Examination, 2010
Group B: ADVANCED COST ACCOUNTING AND COST SYSTEMS
(Special Paper —111)
Application of Cost Accounting
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 100

Instructions : 1) Attempt all questions.
2) Figuresto the right indicate full marks.
3) Use of non-programmable calculator is allowed.

4) Answersto both the Sections should be written in same answer
book.

SECTION — |

1. 3 Fillintheblanks: 5

1) loss of material should be covered in
cost.

2) Cost of finance should be treated overhead.

3) analysis is a different approach than the Management
Accounting.

4) In accounting system, separate set of Books are
maintained.

5) Business process Re-engineering requires of activities.

b) State whether the following statements are Trueor False, with reason. 5

1) Notional Interest on Capital, Rent on own building may be accounted for
cost calculations, but not recorded in financial books.

2) Location of afactory at improper place is not a permanent constraint in
improving productivity.
3) For agivenoutput, input cost should beincreased to improve productivity.
4) Positivefinancial motives cannot increase productivity beyond aparticular
limit.
5) Noentry isrecorded infinancial booksfor material issued for production.
P.T.O.
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2. Explainthe meaning of value chain analysis. What isthe difference between

V.C.A. and Management Accounting ?

3. Write short notes on any four of the following :

a) Treatment of R & D Costs

b) Assessing competitive advantage

20

20

c) Reasonsfor difference between cost profit and financial profit

d) Labour productivity
€) Human aspect of productivity
f) Idle capacity.

SECTION — 11

4. The records of a Manufacturing Co., shows the data of financial accounts as

follows, for the year 2009.

Direct Materials Consumption
Direct wages
Factory overhead
Administration overheads
Selling and Distribution overheads
Bad-debts
Preliminary Exp. written of f
Legal charges
Dividend received
Interest received
Sales: 240 units
Closing stocks::
Finished goods : 8 units
Work in progress

Rs.
10,000
6,000
3,200
1,400
1,920
160

20
200

24,000

480



ARV O 3 [3770] — 205

The cost Accounts for the same period shows that the direct material consumed
was Rs. 12,000.

Factory overhead is recovered at 20% on prime cost. Administration overhead
isrecovered at Rs. 6 per unit of production. Selling and Distribution overheads
are recovered at Rs. 9 per unit sold.

Prepare the Profit and Loss Accounts as per both Financial and Cost Accounts.

Reconcile the Profits arrived at by the two methods. 20

5. Calculate Material, Labour and Machine Productivity for the following data for
the month of March 2010.

Output was 12000 units

Materials used were 30,000 kgs.

Thereis 10% normal loss of materialsinpuit.

There was abnormal loss of 300 kgs of materials.

What isgrossmaterial yield ? Calculate the material required per unit of output ?

There are 20 workers working in each shift of 8 hours. Daily two shifts are
worked. One hour isthetime allowed for lunch and tea breaks, per shift. Onan

average 25 days are worked in a month.

Calculate Labour productivity as units produced per labour hour and the time
taken for production of one unit. If the standard output is 2.5 units per hour,

what isthe efficiency of the l[abour ?

There are 10 machines, which are effectively used for 6 hours per shift. The

machines are used for 24 days only in amonth.

Caculate, productivity per machine hour and Machinetime per unit manufactured. 20
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6. A Ltd. purchased three materials X, Y and Z. The quantity purchased was 1000,
2000 and 3000 units respectively. The purchase price was Rs. 4, Rs. 2.5 and
Rs. 2 respectively. Freight ispaid at 10% on the value of materials.

Octroi is required to be paid as material X Rs. 350, Materia Y Rs. 200 and
Material Z Rs. 240. There is normal loss of 5% on the quantity purchased.
However the units available for production were Material X - 940, Y - 1880 and
Z - 2820.

You are required to calculate rates for issue of each of the material X, Y and Z.
Also calculate the abnormal loss of each material and state how to account for

the abnormal loss of the materials ? 10

B/1/10/3,685
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M.Com. (Semester — 11) Examination, 2010
Group—B: ADVANCED COST ACCOUNTING AND COST SYSTEMS
(Special Paper — V)
Cost Control and Cost System (New)

(2008 Pattern)
Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Use of calculator is allowed.

1. A) Fill intheblanks: 5

a) Profit planning is possible with costing.

b) Cost control aims at achieving the costs.

c) Activity based costing is an upcoming and more refined approach for
charging costs to products and computing more accurate
product cost.

d) The purpose of Management Information System (MI1S) is to
managers and supervisors at various levelsto help them to discharge their
functions,

€) Basis of apportionment of stores service expenses is

B) State whether the following statementsaretrueor false. 5

a) Cost control isapreventivefunctionwhereas cost reductionisacorrective
function.

b) Valueanaysisisnot acreative approach for finding out unnecessary costs.
c) Inmarginal costing, managerial decisionsareguided by contribution margin
than by profit.

d) The cost of costing system must be justified by the benefits derived from
the system.

€) Pre-determined rate of absorption of overheads helpsin quick preparation
of cost estimates and quoting prices.

P.T.O.
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2. Define‘Cost Reduction’. What are the mgjor areas in which Cost Reduction is

usually possible ? 15
OR
Outlinethe stepsinvolved ininstalling acost system in amanufacturing unit, what
are the essentials of an effective costing system ? 15
3. Write short notes (any three) : 15

a) VaueEngineering

b) Activity based costing

c) Creating cost center and cost code
d) Cost Control

€) Just-in-time.

4. A) Sultan plastic company makes plastic buckets.An analysisof their accounting

reveals: 15
Variable Cost per bucket Rs. 20

Fixed cost Rs. 50,000 p.a

Capacity 2,000 buckets p.a

Selling price per bucket Rs. 70

Required:

1) Findout break even point in units and sales volume (RS).

i) Find the number of buckets to be sold to get a profit of Rs. 30,000 and
profit per bucket.

ii) 1f the company can manufacture 600 buckets more per year with an additional
fixed costs of Rs. 2,000, what should be the selling price to maintain the
profit per bucket as at (ii) above ?

B) A company sold in two successive periods 7,000 units and 9,000 units and
hasincurred aloss of Rs. 10,000 and earned Rs. 10,000 as profit respectively.
The salling price per unit isRs. 100. You are required to calculate the PIV
Ratio and the amount of fixed costs. 5
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5. XYZ Co. LTD. has received an enquiry for the supply of 1000 units of steel

chairs. The capacity exists for the manufacture of chairs on company’s unit
No. 3, but afixed investment of Rs. 4,00,000 and working capital to the extent of
25% of salevauewill berequiredif thejobisundertaken. The costsare estimated
asfollows:

Raw Materias 11,000 Kgs @ Rs. 10 per Kg
Direct wags 1,000 hours @ Rs. 10 per hour
Variable Overheads

Factory Rs. 15 per labour hour
Selling and distribution Rs. 20,000
Fixed Overheads:
Factory Rs. 10,000
Selling and distribution Rs. 45,000
Prepare a statement showing the price to be fixed under :
a) Thetotal cost method, using i) 30% on the total cost, and ii) 20% on selling.
b) Conversion cost method, 200% conversion cost as profit.
c) Marginal Cost Method, assuming a P/V Ratio of 35%.

d) Returnon Investment Method, with an expected return of 20% on capital
employed. 20

B/1/10/3,575



RO A 0 [3770] — 207

M.Com. I (Semester — I1) Examination, 2010
(Group—-C) : BUSINESS PRACTICES AND ENVIRONMENT
Special Paper — 111
Modern Business Practices
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explain organisation and objectives of Maharashtra Chamber of Commerce.
OR
State the objectives and functions of Maratha Chamber of Commerce.

2. Explain the functions of federation of Indian Chamber of Commerce and
Industries.

OR
Explain the objectives and functions of public enterprises in India.

3. Explain characteristics of Agricultural business and government policies related
to agricultural business in India.

OR

Explain the nature of Indian Agriculture and agricultural taxation policy of
Government of India.

4. Explain impact of WTO (World Trade Organisation) on Agri-Business practices.
OR

Explain the term “Agricultural Product”. State nature and disposal of agricultural
by-product.

5. Write short notes (any four) :
a) Indian Merchants Chamber
b) Confederation of Indian industries
c) Autonomy of public enterprises
d) Farm waste
e) Dairy business

f) Public utilities.
P.T.O.
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M.Com. (Semester — 11) Examination, 2010
Group C: BUSINESS PRACTICES AND ENVIRONMENT
Special Paper — 1V
Business Environment Analysis
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 80

Instructions : 1) All questions are compulsory.
2) All guestions carry equal marks.
1. “Private and public sector both contributed for industrial growth” - Discuss.
OR

State the importance of ‘Foreign Technology’. Explain the role of ‘MNC' in
development of the nation.

2. Explain the role of ‘Indian Money Market’ and ‘Capital Market’ in financial
environment of business.

OR

Statetheimportanceof ‘ Environmental Analysis'. Explain the different techniques
of Environmental Analysis.

3. What do you mean by ‘Poverty’ and ‘Social Injustice’ ? Explain how does it
affects on growth of business.

OR
What is‘Regional Imbalance’ ? Explain the causes of Regional Imbalance.

4. What is ‘Globa Environment’ ? Explain the impact of ‘Natural and Cultural’
factors on business.

OR

Define * Global Environment’. Explain itsimportance in business point of view.

State its impact on world trade.
P.T.O.
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5. Write short notes (any two) :
1) Small and Cottage Industries
2) Role of Cooperative Banks
3) CompetitionAnalysis
4) Lack of Technical Knowledge and Information
5) Typesof Global Environment
6) Roleof Non Banking Institutions.
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M.Com. (Semester — 11) Examination, 2010
Group —F : CO-OPERATION AND RURAL DEVELOPMENT
Special Paper — 1V
Management of Co-operative Business
(2008 Pattern) (New)
Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Critically examinethe organisational structure of co-operatives.
OR

What criteriaare used for appraising the performance of co-operative business ?

2. Evauate the business policies and practices of credit co-operatives.
OR

Evaluate the business policies and practices of Maharashtra State Co-operative
Bank.

3. Evaluate the progress and problems of co-operative housing societies.
OR

What factors contributed to the sucess of Shetkari Sahakari Sangh, Kolhapur ?

4. Briefly explain the sucess story of Warana Co-operative Organisation.
OR

Discuss the problems of non-agricultural credit co-operatives.
5. Write short notes (any two) :

a) Problems of economic viability of co-operative business.

b) Social responsibilities of co-operative business.

c) Business policies of District Co-operative Banks.

d) Problemsof Co-operative Marketing | nstitutions.

P.T.O.
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M.Com. (Semester — 1) Examination, 2010
Group -G : ADVANCED BANKING AND FINANCE

Special Paper — 11 : Law and Practice of Banking
(Banking Practices and Prevention of Money Laundering)
Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. What do you understand by money Laundering ? Explain the RBI Guidelines
pertaining to Section 12 and 15 of the Prevention of Money Laundering Act, 2002. 15

OR

1. Who is a customer to a bank ? Explain agent-principal and trustee-beneficiary
relationships between a banker and a customer. 15

2. What do you understand by banker’s duty of secrecy of customer’s account ?
When do you think is the disclosure about customer’s account permissible ? 15

OR
2. Explain in detail the functions of Credit Information Bureau of India Ltd. (CIBIL). 15

3. What are different grounds on which a banker may face an asset — liability

mismatch ? 15
OR
3. State and explain various assets and liabilities appearing on the balance sheet of a
bank. 15
4. What do you understand by a non performing asset ? What steps would you
suggest to ensure that an asset does not turn non-performing ? 15
OR
4. What do you understand by merger and acquisition ? State and discuss any one
such case in banking sector of India. 15
5. Write notes on (any two) : 20

a) Features of banker customer relation as debtor and creditor.

b) Strategies to manage the risks associated with banking business.
c) Real time gross settlement.

d) Electronic clearing system and its forms.

P.T.O.
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M.Com. (Semester — 1) Examination, 2010
Group H : ADVANCED MARKETING
Paper-111 : (1) Customers Relationship Management and Retailing
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions :1) All questions are compulsory.
2) All questions carry equal marks.

1. Trace the evolution of relationship management and bring out the focal
differentiating points between traditional relationship management and Modern
Relationship Management.

OR
1. What is the role of relationship marketing in the marketing of services ? Explain
with the help of an example any one service.
2. Explain the role of information technology in building, maintaining and enhancing
the profitability of a marketing organisation.
OR
2. What is a website ? Explain the dynamics of a website.

3. Define Retailing. What are the factors that affect retail location decision ?
OR
3. Make a comparison between Indian and Global Retail marketing scenario.

4. Define store design. Write a note on different types of store layouts.
OR
4. Write a detailed note on supply chain management.

5. Write short notes on any four :
a) Electronic data exchanges
b) Space mix
c) Non store retailing
d) Relationship marketing in Mass Markets
e) Internet Marketing
f) Managing in-store events. P.T.O.
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M.Com. (Semester — 1) Examination, 2010
(Group H) ADVANCED MARKETING
(Special Paper —1V)

Service Marketing
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.

1. What is ‘service marketing’ ? Describe the various important marketing services. 16
OR
What is service life cycle ? Explain the stages of service life cycle in detail. 16

2. Define the concept “Pricing of services” . Expalin the various factors and methods
of ‘Princing of services’. 16

OR

What is “Physical Evidence’ ? Explain the nature and importance of ‘Physical

Evidence’. 16

3. Explain the contribution of services to customer satisfaction in detail. 16
OR

Explain the concept and advantages of service blue printing. 16

4. What is market segmentation ? Explain the importance and various levels of market
segmentation. 16

OR
What is technology services ? Explain the various process of technology services. 16

P.T.O.
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5. Write short notes (any four) : 16

a) Demand and supply of services

b) Services marketing triangle
c) Charitable services

d) Retailing services

e) Consultancy services

f) Service Guarantee.
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M.Com. (Part - 1) (Compulsory) Examination, 2010
INDUSTRIAL ECONOMICS
(2002 Pattern) (Old)

Time: 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Answer should be precise and to the point.

1. Discuss the Inter-relationship between ‘Industrial Development and Economic
Development’.

OR
What are the measures required for improving productivity and efficiency ?

2. Write short notes on (any two) :
a) Sargant Florence’s theory of Industrial Location.
b) Problems of small scale Industries.
c) Importance of decentralisation of Industries.
d) Factors affecting productivity.

3. Explain the concept of Globalisation. What are the effects of Globalisation on
Industry ?

OR
Explain economic crisis and structural changes in Indian Industries after 1991.

4. Discuss the progress and problems of cotton-textile Industry in India.
OR

Discuss India’s Industrial Policy of 1991.

5. Write short notes (any two) :
a) Need for foreign capital
b) Evolution of Modern Industries
c) Impact of privatisation on Indian Industry

d) Role of Multi-National Corporations.
P.T.O.
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M.Com. (Part — I1) (Optional) Examination, 2010
Gr. A: ADVANCED AACCOUNTING AND TAXATION (Paper — 111)
Advanced Auditing (Old) (2002 Pattern)

Time: 3 Hours Max. Marks: 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. “An Auditing is a dynamic, analytical, critical and investigative discipline”.
Discuss the importance and objects of auditing in the context of the above
statement.

OR

How would you verify the following assets and liabilities ?
a) Live stock

b) Petty cash

c) Provision for taxation

d) Contingent Liabilities.

2. Write short notes on (any two) :
a) Basic elements of Auditor’s Report.
b) Mandatory accounting standards in India.
c) Preliminaries to the audit of limited company.
d) Provisions of Section 44 AB of the Income Tax Act, 1961.

3. “Internal Audit is the aim of Management”. Explain it and discuss recent trends in
the development of internal auditing.

OR

Discuss the various points to be considered in the audit of public sector
undertakings.

P.T.O.



[3770] - 24 O A

4. Explainthe special features of audit of cooperative societies specially with reference
to appointment of auditors and contents of audit report based on the provisions
of Maharashtra State Cooperative Societies Act, 1960.

OR

4. Define ManagementAudit. Discuss the objects of Management Audit. Distinguish
between Cost Audit and Management Audit.

5. Write short notes on (any four) :
a) Internal Audit Report
b) Role of Comptroller and Auditor General of India
c) Audit of Charitable trust
d) Audit of Bank
e) Efficiency Audit

f) Proprietory Audit.

B/1/10/2,310
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M.Com. (Part - Il) (Old) Examination, 2010
Gr.B : ADVANCED COST ACCOUNTING AND COST SYSTEM
(Paper — I11) (2002 Pattern)
Cost and Management Audit (Optional)

Time : 3 Hours Max. Marks : 100

Instructions : 1) Attempt all questions.
2) All questions carry equal marks.
3) Use of non-programmable calculator is allowed
wherever necessary.
1. Explain following in relation with the Cost Auditor :
a) Qualifications
b) Disqualifications
c) Appointment
d) Rights. 20
OR

1. Draft the specimen of Cost Audit Report [Form Il]. 20

2. Write short notes (any four) :
a) Efficiency Audit and Propriety Audit.
b) Advantages of Cost Audit
c) Duties of Cost Auditor
d) Cost Audit Report Rules

e) Cost Accounting Record Rules. 20
3. “Management Audit can be a potent tool for managerial control and reduction
of cost” — discuss. 20
OR
3. Discuss the scope and organisational needs of Management Audit. 20

P.T.O.



4. Write short notes (any four) : 20

[3770] - 25 2-

a) Qualifications and appointment of Management Auditor

b) Evaluation of control system

c) Audit of social responsibility

d) Advantages of ManagementAudit

e) Steps in Management Audit.

. From the following data calculate following :

Ratios as required under Annexure No. 24 of the Cost Audit Report.

a) Current Ratio
b) Debt-Equity Ratio

c) N.P. to Capital Employed Ratio

d) N.P. to Networth

e) Value Addition to Sales.

Borrowed Funds
Fixed Assets
Capital Employed
Own Funds
Liquid Assets
Value Additions

Rs. 10,80,00,000
Rs. 8,40,00,000
Rs. 4,48,00,000
Rs. 5,28,00,000
Rs. 4,12,00,000
Rs. 4,40, 00,000

Liquid liabilities Rs. 1,64,40,000
Gross Profit Rs. 2,40, 00,000
Net Profit Rs. 7,20,00,000

Net working capital

Current Assets

Net sales

Net worth

Current liabilities

[Excluding bank overdraft
of Rs. 1,00,00,000]

OR

Rs. 4,80,00,000
Rs. 6,40,00,000
Rs. 10,80,00,000
Rs. 5,28,00,000
Rs. 1,64,40,000

20
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5. The Stock Sheet of a Company at the end of the financial year is given below :

Item  Category Cost Net Realisable
Value
Rs. Rs.
1 Bars 15,600 14,900
2 Bars 7,500 7,200
3 Bars 12,800 13,300
35,900 35,400
C.R. sheets 26,600 25,100
C.R. sheets 15,300 15,400
C.R. sheets 6,500 6,300
48,400 46,800
Angles 12,400 11,900
Angles 8,400 8,200
9 Angles 9,000 9,000
29,800 29,100
1,14,100 1,11,300

Indicate the value of the closing stock confirming to the Formula “Cost or Net-
Realisable Value whichever is lower” under :

a) Total cost of all items
b) Group method
c) Item by Item Method. 20

B/1/10/1,415
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M.Com. (E-Commer ce) (Sem. —I1) Examination, 2010
201 : BUSINESSPROCESSESAND PRACTICES

Time: 3Hours Marks: 80

Note: i) All questions are compulsory.
i) Figures to the right indicate marks allotted to the question.

1. Discussin detail the parameters of Global Competitiveness required to be
developed by any MNC (Multi National Corporation). 16

OR

Ilustrate with practical examplestheinterface between productivity and profitability.
Explain the measures to boost up the productivity in any corporate organization. 16

2. What do you mean by the term 'Value' ? Explain the basic components of the

term ‘Value'. 16
OR
What ismeant by Six Sigma ? State the prerequisitesfor the successful operation
of Six Sigmatechniquesin any organization. 16
3. State the meaning of the term 'Business Forecasting'. Explain the need and
importance of Business Forecasting. 16
OR

Definetheterm ‘ Capacity Building' . State the areas covered in capacity building
exercise. 16

4. What is Supply Chain Management ? Explain therole of SCM in Cost Control. 16

OR
Explaintheterm 'Inventory'. State and explain the latest techniques of Inventory
Control employed in any manufacturing industry. 16
5. Write short notes (any four) : 16
i) SAP

i) R-3 Technique

iif) Scheduling of operations

Iv) Customer satisfaction through quality enhancement

v) Daily operational decision making through the use of computers

vi) Project Planning.
P.T.O
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M. Com. (E-Commerce) (Semester — 1) Examination, 2010
OPERATIONS RESEARCH

Time : 3 Hours Max. Marks : 70

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.
1. Attempt any three of the following : 15
I) Define slack and artificial variables and explain their importance in L.P.P..
i) Obtain all the basic solutions to the following system of linear equations :
2X,+X,~X, = 2
3X,+2X,+X,= 3
i) Write the dual problem of the following primal problem :
Minimize Z = x — 3X,~2X,
Subject to the constraints
33Xy — Xy +2X5 <7
2X, —4x, 212
—4x, +3X, +8%x53 =10
X1, X520
X, is unrestricted

Iv) Determine an initial basic feasible solution to the following transportation problem
by using north-west corner rule.

Destination
D]_ Dz D3 D4
O,|6 4 1 5 14
OriginO, |8 9 2 7 16Availability
O;/4 3 6 2 5

6 10 15 4
Requirement

P.T.O.
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v) Obtain an initial basic feasible solution to the following transportation problem
by least cost method :

Destinations
D, D, D, D, | Supply
Origin
o} 1 2 3 4 6
O, 4 | 3 2 0 8
0, 0 2 2 1 10
Demand 4 6 8 6 24
2. Attempt any three of the following : 15

I) Explain the terms
a) Saddle point
b) Two person zero sum game.

i) In game of matching coins, player A wins Rs. 2 if there are two heads, wins
nothing if there are two tails and losses Rs. 1 when there are one head and one
tail. Determine pay off matrix, best strategy for each player and value of the
game for player A.

i) Solve the game whose pay off matrix is given by

Player B
B, B, B, B, B,
A [-20 0 5 3]
A, l4a 21 2 5
PIayerAA2
3 |-4-3 0 -3 6
A, 15 1 -5-2-6]
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Iv) Use dominance property to solve the game whose pay off matrix is given by

Player B

1 2

I 9 2

Player A | ' 4 5
i 6 4

v) Solve the following assignment problem :

Job
I | v
10 (12 | 19 | 11
10 71 8

Person
12 14 | 13 | 11

8 |15 | 11 9

o O m >
(8]

3. Attempt any two of the following :

I) Use simplex method to solve the following L.P.P. :

Maximize Z = 7x +5X,
Subject to the constraints

X1 +2X,<6
4X,+3X, <12

X1, Xy 20

i) Use Big-M method to solve the following L.P.P.:

Maximize
Z = 3X,+2X,+3X,
Subject to the constraints
2X1+ Xy +X53<2
3X; +4X,+2X3 28
X1, X9,X5 2 0.

[3770] — 252
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method :
Stores
Ware houses | | I 11V | Availability
A 5} 1 3 3 34
B 3 3 5} 4 15
C 6 4 4 3 12
D 4 -1 4 2 19
Requirement | 21 25 17 17 80

Iv) A company has three plants and four warehouses. The supply and demand in
units and corresponding transportation cost are given with solution.

Warehouses
Plants Supply
| 11 1] v

(s | o |4 s
A ' @ ' 10

6 8 7 2
B @ 25

4 2 5 7
C @ @ 20
Demand 25 10 15 5 55

Answer the following questions giving reasons :

a) Is this solution feasible ?
b) Is this solution non-degenerate ?
c) Is this solution optimal ?

d) Does this problem have more than one optimal solution ? If so, find an

alternate solution.

i) Obtain an initial basic feasible to the following T.P. by VVogel’s approximation
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4. Attempt any four of the following : 20
a) Define the terms
I) States of nature
i) Pay off
lii) Hurwich criterion
Iv) Average queue length
V) Arrival rate.

b) Inasuper-market the average arrival rate of customers is 5 in every 30 minutes.
The average time at cash desk is 4.5 minutes, and this time is exponentially
distributed. Find

I) Traffic intensity.

i) Average time that customer should expect to spend in queue.
i) Probability that queue length will exceed 5.
Iv) Probability that the cashier is working.

c) A super market has two girls ringing up sales at the counters. If service time is
exponential with mean 4 minutes and people arrive in poisson fushion at the rate
10 per hour.

1) What is the probability of having to wait for a service ?

i) Find expected number of idle girls.
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d) 1) The pay off table for three courses of Action (A) with three states of natur (E)
with their respective probabilities (P) is given below. Find best course of

action.

Events | Probabilities | Act Act I Act 111
E, 0.3 2.5 4 3
E, 0.4 2 2.6 1.8
E, 0.3 -1 0 1

I1) A decision problem has been expressed in the following pay off table :

Action Outcome
| I i
A 10 |20 | 26
B 30 |30 | 60
C 40 |30 | 20

What is the minimum pay off action ?

B/1/10/135
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M.Com. (E.Com) (Semester —I1) Examination, 2010
203: FINANCIAL AND INVESTMENT ANALYSIS

Time: 3Hours Max. Marks: 70

Notes : i) Question No 8 is compulsory.
i) Attempt any 4 questions out of the remaining.
i) All questions carry equal marks.

1. Definethetermsinvestment and speculation. How will you differentiate the
following termsinvestment, specul ation and gambling ? 14

2. Explain the concept of risk. What are the risks associated with investment ? Can
investment risk be eleminated ? Justify your answer with suitable explanation. 14

3. Explain theimportance of National Stock Exchange in Indian Economy. State

major functions performed by NSE. 14
4. Explain the difference between fundamental approach and technical approach to

Investment. 14
5. Explain the nature and methodology of trend analysis. 14
6. Explain at length the various phases of portfolio management. 14
7. Explain the various methods of portfolio performance evaluation. 14
8. Write short notes on any two of the following : 14

I) Functions of key playersin security markets.
ii) Salient features of efficient market hypothesis.
i) Charting astool of technical analysis.
Iv) Importance of secondary capital market.

v) Role of OTCEI in share market.

B/1/10/135
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M.Com. (E-Com.) (Semester — 1) Examination, 2010
204 : HUMAN RESOURCES MANAGEMENT INFORMATION SYSTEM

Time : 3 Hours Max. Marks : 70

N.B. : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Define Human Resource Management. Explain the nature and objectives of Human
Resource Management.
OR
1. Describe the role of Human Resource Management in an organisation.
2. Discuss the environmental factors affecting the human resources in corporate
entity.
OR
2. What is Human Resource Information System ? Explain the computer aid to
Human Resource Information System.
3. Define Human Resource Planning. Explain the barriers to Human Resource
planning.
OR
3. What is socialisation system ? Explain the characteristics of an effective
socialisation system.
4. “Human Development is an indispensable factor in the process of Human
Resource Development”. Discuss.
OR
4. Discuss the changing role played by knowledge management system in Human
Resource Management.
5. Write notes on (any two) :
a) Performance Management
b) Job Evolution
c) Sound socialisation system

d) Human Resource Information System. 5T O
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M.Com. (Part — 1) (Optional) Examination, 2010
Gr.C : BUSINESS PRACTICES AND ENVIRONMENT (Paper —111)
Entrepreneurship Development
(2002 Pattern) (Old)

Time : 3 Hours Max. Marks : 100

Instructions : i) All questions are compulsory.
i) All questions carry equal marks.
1. Explain the term ‘Entrepreneurship’. Explain the features of entrepreneurship.
OR
What is ‘Entrepreneurship’ ? Explain the qualities of entrepreneurship.

2. What s “‘Entrepreneurship development programme’ ? Explain the training models
and training components of entrepreneurship development programme,

OR

Explain the objectives and importance of entrepreneurship development
programme.

3. Explain the process of identifying and assessing business opportunity.
OR

Explain the problems in entrepreneurship development.

4. What is critical path method ? Explain the importance and role of CPM in
developing a new business.

OR

What is “‘Project Management’ ? Explain the issues in project management and
project direction.

P.T.O.
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5. Write short notes on (any four) :
a) Changes in the concept of entrepreneurship.
b) Objectives of entrepreneurship development training.
c) Skill and qualifications of trainer-motivator.
d) Project cost evaluation.
e) Projectevaluation review technique [PERT].

f) Entrepreneurship within organisation.
TS ®UTR
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
202 : RELATIONAL DATABASE MANAGEMENT SYSTEM

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Figures to the right indicate full marks.
1. Attempt any eight : (8x2=16)
a) Listany two disadvantages of file systems.
b) Diagrammatically represent 3-tier database architecture.

c) Describe the difference in meaning between the terms database schema and
database instance.

d) Which are the fundamental operations in relational algebra ?
e) What are aggregate functions ? List 5 built in aggregate functions of SQL.

f) Give the syntax of the SQL statement used to identify embedded SQL requests
to the preprocessor.

g) Define relationship and relationship set.

h) What do you mean by resource authorization ?
1) What is trivial dependency ?

J) What are the properties of the transactions ?

2. Attempt any four : (4%4=16)
a) Explain in detail the transaction states with the help of a diagram.
b) Write a short note on “Two-phase locking protocol”.
c) Explain in brief the actions to be taken to recover the system from deadlock.
d) Explain the various types of failures that may occur in a system.

e) Write a short note on log-based recovery.
P.T.O.
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3. Attempt any 4 : (4%x4=16)
a) Explain the difference between the three storage types in terms of 1/O cost.

b) In multiple granularity locking, what is the difference between implicit and
explicit locking ?

c) Explain the distinction between the terms serial schedule and serializable
schedule.

d) Discuss the three rules used to find logically implied functional dependency.
Also list the additional rules.

e) Write a short note on Dynamic SQL.

4. a) Attemptthe following : 10

In a nursery, the plants are sold to the customers. These plants are flowering
and non-flowering only. Nutrients are given to the plant with some quantity.
Nutrients includes pesticides, watering and manure.

Draw an ERD that illustrates the above scenario.
b) Attempt any two : (3%x2=6)
I) Explainthe extended ER feature of specialization with the help of an example.

i) To protect the database, what are the security measures taken at several
levels ?

i) What are the design goals of relational database design ?

5. a) Attempt the following: (2x5=10)
Consider the following schema :
Employee (Emp-id, Name, Salary)
Project (Project-id, Project-Name, Chief-architect)

Assigned-to (Emp-id, Project-id)
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Solve the following queries in SQL :

[) Listthe projects on which Rahul is working.

i) List the employee names working on project named ‘accounting’.
i) Find the employee with maximum salary.

Solve the following queries using relational algebra :
i) Give employee-id of employees working on project ‘C 353’.
i) Find the project-id of operating system project.
b) Attempt any 2 of the following : (3%x2=6)

i) Consider the following schedule and check its serializability.

T, T, T,
read (A)
write (A)
write (A)
write (A)

i) What is BCNF and 3 normal forms.
lii) What is a weak entity ? Give eg.

B/1/10/315
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
204 : ACCOUNTING FOR MANAGEMENT

Time: 3 Hours Max. Marks: 80

Instructions : a) All questions are compulsory.
b) All questions carry equal marks.

1. What is Management Accounting ? What are the advantages and limitations of
ManagementAccounting ?

OR
Explain the objectives and tools of financial statements analysis.

2. What is marginal costing ? How is control exercised on costs through marginal
costing technique ?

OR

Write short notes on any four :
a) Trend analysis

b) Master budget

c) Quickratio

d) Utility of Cash flow Analysis
e) Multi-step income statement
f) Window dressing.

3. From the following information, make out a balance sheet of Suvarna Synthetics
Limited with as many details as possible.

Sales Rs. 18,00,000
Total Assets Turnover 3
Fixed Assets Turnover 5
Current Assets turnover 7.5
Inventory Turnover 20
Debtors Turnover 15
Total Assets/Net Worth 2.5
Debt Equity 1
Current Ratio 2

P.T.O.
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4. From the following Balance Sheet as at 315t December, 2007 and 2008 and
additional information relating to Precision Tools Ltd., prepare : 1) Statement
showing the changes in the Working Capital , and 2) Statement of sources and
Applications of Funds for the year ended 315t December, 2008.

Liabilities 2007 2008 Assets 2007 2008
Rs. Rs. Rs. Rs.

Sundry Creditors 1,000 1,030 Cash 1,600 1,776
Bills Payable 200 250 Sundry Debtors 400 740
Debentures 880 880 Stock of raw material 220 248
Dep. Fund 200 112 Stock of finished goods 280 240
Reserves and Surplus 600 780 Stock of work in progress 100 200
Share capital 1,400 1,740 Land 160 160
Buildings 800 640

Plant and Machinery 600 680

Debenture discount 80 72

Patents 40 36

4,280 4,792 4,280 4,792

Additional Information :

1) Net profit reported Rs. 4,00,000

2) Dividend paid Rs. 80,000

3) Depreciation charged to profits Rs. 32,000

4) The company issued equity shares for Rs. 2,00,000 and bonus shares for
Rs. 1,40,000.

5) Abuilding was sold for Rs. 56,000, the cost and book value being Rs. 1,60,000
and Rs. 40,000 respectively.
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5. Mona products limited produce a standard product. The estimated costs per unit
are given below :

Raw material 10
Direct wages 8
Direct expenses 2
Variable overheads 3

Semi-variable overheads at 100% activity level (10,000 units) are expected to be
Rs. 40,000 and these overheads vary in steps of Rs. 2,000 for each change in
output of 1,000 units. Fixed overheads are estimated at Rs. 50,000. Selling price
per unit is expected to be Rs. 40.

Prepare flexible budget at 50%, 70% and 90% level of activity.

B/1/10/315
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M.C.A. (Commerce Faculty) (Semester — 1) Examination, 2010
205 : NETWORKING OPERATIONS

Time : 3 Hours Max. Marks : 80

1. Answer the following questions (any 4) : 16

a) Explain connectionless and connection oriented types of services with suitable
example.

b) What do you mean by ‘Topology’ ? What are the different types of topologies ?
c) Explain the architecture of Bluetooth.

d) Explain spanning tree bridges.

e) Explain the concept of WWW (World Wide Web) and its architecture.

2. Answer the following questions (any 4) : 16
a) What is computer network ? What are the different goals of computer network ?
b) Write a note on Guided Media.
c) Explain the frame format of IP datagram.
d) State and explain different propagation methods.

e) Explain in brief functions of NIC (Network Interface Card).

3. Answer the following questions (any 4) : 16
a) Write a note on IEEE 802.3 frame format.

b) What are the different issues that are to be considered while designing the
layers ?
c) Define “Protocol Stack’. Explain TCP/IP protocol stack.

d) Explain the different types of network based on scale and transmission
technology.

e) What’s SAP ? What are different protocol standards ?
P.T.O.
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4. Answer the following questions (any 4) : 16
a) What are the different addresses defined by TCP/IP protocol stack ?
b) Explain the working of subnet.
c) State the advantages and disadvantages of fibre optic cables.
d) What’s a protocol ? What are the key elements of a protocol ?
e) Explain synchronous and asynchronous types of transmission.

5. Answer the following questions (any 1) : 16
a) 1) Explain OSI model in details.
i) Definethe terms:
a) Peer Entities
b) Network Architecture
c) Layer ‘n’ protocol
d) Interface.
OR
b) i) Explain IEEE 802.11 architecture (wireless LANS).
i) What are the different modes of communication ?
i) Write a note on switches (2-layer and 3-layer switches).

B/1/10/315
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M.Com. (Part — Il) Examination, 2010
Gr.- D : BUSINESS ADMINISTRATION (Optional) (Paper — 111)
Human Resource Management
(2002 Pattern) (Old)

Time : 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Explain the importance of Human Resource Management. Distinguish between
Personnel Management and Human Resource Management.

OR

1. Highlight the changed role of Human Resource Management in the context of
liberalisation, privatisation and globalisation of Indian industries.

2. What do you mean by management development ? Evaluate the role of training
as a management development tool.

OR
2. A) Explain the benefits of career planning.
B) What are the objective of Human Resource Planning ?

3. Explain the concept of performance appraisal. Discuss important methods of
performance.

OR
3. Write an exhaustive note an safety measures in factory.

4. What do you mean by compensation management ? State guiding principles in
designing a compensation policy in an organisation.

OR
4. What is motivation ? Explain various theories of motivation.

5. Write short notes (any four) :
1) Qualitycircle
2) \oluntary retirement scheme
3) Changing role of employees organisation
4) Howthrone experiment
5) Flexitime

6) Kaizen.
P.T.O.
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M.Com. (Part —I1) (Optional) Examination, 2010
Gr. E : Secretarial Practiceand Company M anagement
Paper —111: WORLD TRADE ORGANISATION
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

Instructions: i) All questions are compulsory.
i) All questions carry equal marks.

1. Explain the structure and working of W.T.O.
OR

1. Comment on the measures taken by the W.T.O in favour of under developed
countries.

2. Discussindetail anti-dumping agreements.
OR

2. What is 'Dumping' ? Explain effects of dumping on importing and exporting
country.

3. Write short notes on (any four) :

a W.T.O. Accession.

b) U.R.Agreement and India.

c) Role of Indiain W.T.O.

d) Potentially sick company.

€) Objects of SICA.

f) Board for Industrial and Financial Reconstruction (BIFR).

4. Explain the role of B.l.F.R. in Amalgamation of sick companies. What is the
declaration by B.l.F.R. before ordering Amalgamation ?

OR

4. Define*Amalgamation’ as per Income Tax Act ? Explain the provisionsrelating

to unabsorbed losses and depreciation of amalgamating companies.
P.T.O



[3770] — 28 2- AR A

5. Write short notes on (any four)
a) Sick Company.
b) Jurisdiction and scope of SICA.

c) Deduction in respect of profit of priority industries under Chapter VI — A of
Income Tax Act.

d) Scheme of Compromise between Banking Company and Creditors.
€) Non Banking Companies.
f) Powersof RBI regarding Amalgamation of Banking Companies.
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M.Com. (Part — 1) Examination, 2010
(Optional)
Gr-F: CO-OPERATION AND RURAL DEVELOPMENT
(Special Paper —111)
Co-operative Credit and Banking System
(2002 Pattern) (Old)

Time: 3Hours Max. Marks: 100

N.B.: i) All questions are compulsory.

i) All questions carry equal marks.

1. Explainthecredit needsin rural economy. Critically evaluate devel opment of
Co-operative Credit in Indiasince 1981.

OR

Explain the co-operative credit structure in India. State the importance of linking

of Co-operative credit with co-operative marketing.

2. Explain the role of District Central Co-operative Banks in Agricultural Credit since
1981. State their drawbacks.

OR
Evaluate therole of Reserve Bank of Indiain Co-operative Credit Structure.

3. Describetherole of NABARD in mobilising the fundsin rural economy.

OR

Explain the progress and problems of Urban Co-operative Banksin India.

P.T.O.
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4. Evauatethe problem of overduesin co-operative credit organisation in India.

OR

Give a brief account of working and progress of Primary Co-operative Credit
Societiesin India

5. Write short notes (any four) :
a) State Co-operative Banks

b) Bye Laws of Co-operatives

c) Priority sector schemes of advances.
d) Land Development Banks.

€) Role of Registrar of Co-operatives.

f) Commercial Banksand mobilisation of fundsin rural area.
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M.Com. (Part - 1) Examination, 2010
Gr.A- ADVANCED ACCOUNTING AND TAXATION
(Paper — 1) : Advanced Accounting (Old Pattern)
(Optional Paper) (2002 Pattern)
Time: 3 Hours

Instructions : 1) All questions are compulsory and carry equal marks.
2) Use of calculator is allowed.

1. Write short notes on any four of the following :
1) Inflation Accounting
2) Concept of Accounting Theory
3) Role of computer in Accounting
4) Advantages of Human Resource Accounting
5) Methods of Valuation of Brand
6) Social Accounting
7) Purpose of valuation of shares and goodwill.

2. The following is the Balance sheet of H Ltd., A Ltd. and B Ltd. as
on 315t March, 2008.

Balance Sheet as on 31t March, 2008

Liabilities H.Ltd. A Ltd. BLtd. Assets H. Ltd. ALtd
Rs. Rs. Rs. Rs. Rs.

Share Capital 10,00,000 5,00,000 2,00,000 FixedAssets 6,00,000 3,00,000
Reserves 1,50,000 1,50,000 1,20,000 CurrentAssets :

Stock 4,00,000 3,80,000

P&L Alc 2,50,000 3,00,000 1,20,000 Debtors 1,50,000 2,20,000
Creditors 3,00,000 2,00,000 1,30,000 Bank 50,000 30,000
Sharesin‘A’ Ltd. 5,00,000 -

Sharesin ‘B’ Ltd. - 2,20,000

17,00,000 11,50,000 5,70,000 17,00,000 11,50,000

[3770] - 3

Max. Marks: 100

B Ltd.
Rs.

1,50,000

3,00,000
1,00,000
20,000

5,70,000

P.T.O.
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H Ltd. purchased 90% shares in A Ltd. when latter’s credit balance of Profit and
Loss A/c was Rs. 80,000 and Reserve of Rs. 60,000.

A Ltd. purchased 80% shares in B Ltd. when B Ltd had Rs. 20,000 in Reserve
and Rs. 30,000 as credit balance in Profit and Loss A/c.

H Ltd. and A Ltd. acquired shares in subsidiaries on the same date.
Prepare the Consolidated Balance Sheet of ‘H’ Ltd. as on 315t March 2008.

OR

2. From the following details prepare General Ledger AdjustmentA/cs and the Debtors
and Creditors Ledger Adjustment Account under Self Balancing System as on
315t March, 2004.

Debtors on  1-4-2003  (Dr.) Rs. 34,650 ; (Cr.) Rs. 440.
Creditors on 1-4-2003  (Cr.) Rs. 54,616 ; (Dr.) Rs. 208.

Particulars Rs.

Credit purchases 50,400
Credit sales 56,000
Credit purchase returns 1,428
Cash paid to creditors 25, 400
B/R received 18, 600
B/R dishonoured 400
Bill payable accepted 14,800
Discount allowed to debtors 430
Discount allowed to debtors later on disallowed 200
Cash received from debtors 17,400
Discount allowed to creditors 2,040
Postage charged to Debtors 50
Transfer from creditors ledger to debtors ledger 24,840
Cash purchases 8,000
Cash sales 16,000
Bad debts written off 430

Provision for doubtful debts 1,030
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3. Uptodate Ltd. has agreed to acquire the goodwill and assets (except stock) of
Slowdown Ltd. as on 31st March, 2002 on which date the Balance sheet of
Slowdown was as under :

Balance Sheet as on 315t March, 2002

Liabilities Rs. Assets Rs.

Authorised and Issued Fixed Assets :

Capital : Goodwill 20,000
20,000 8% Cum. Pref. Freehold property 80,000
shares of Rs. 10 each 1,60,000 Machinery 80,000

Reserve 43,000 Current Assets :

9% Debenture 60,000 60,000 Stocks 30,000

Current liabilities and Provisions 57,000 Investments 40,000

Sundry Debtors 50,000
Bank Balance 20,000
3,20,000 3,20,000
The consideration for acquisition agreed was as under :

a) Discharge of 9% Debenture @ 10% premium by issue of 12% Debenture in
Uptodate Ltd.

b) Issue of 3 shares of Rs. 10 each in Uptodate Ltd. at market price of Rs. 12 for
every 2 shares of Slowdown Ltd.

c) Payment of Rs. 2.50 in cash for each share in Slowdown Ltd.
d) Acquisition expenses of Rs. 3,000 to be met by Uptodate Ltd.

Slowdown Ltd. sold its stock (which was not taken over) Rs. 32,000 and one
third of the shares received from Uptodate Ltd. @ Rs. 12.50 each. Current
liabilities and provisions (which are also not taken over) were setteled of Rs. 55,000.

Before the final liquidation it also declared a dividend of Rs. 12.50.
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Uptodate Ltd. Valued freehold property at Rs. 1,20,000; machinery at Rs. 75,000;
Investment at 10% increase and Sundry Debtors at 10% less.

You are required to give
1) Ledger Account to close the books of Slowdown Ltd.

2) Opening journal entries in the books of Uptodate Ltd.
OR

The business of Rundown Ltd. was being carried on continuously at losses.
The following are the extracts from the Balance sheet of the company as on
315t March, 2008.

Liabilities Rs. Assets Rs.
Authorised, Issued Goodwill 50,000
and subscribed capital : Plant 3,00,000
30,000 equity share Loose Tools 10,000
of Rs. 10 each fully Debtors 2,50,000
paid 3,00,000 Stock 1,50,000
2000, 8% Cumulative Cash 10,000
Preference share of Rs. 100 Bank 35,000
each fully paid 2,00,000 Preliminary Expenses 5,000
Share premium 90,000 Profit and Loss A/c 2,00,000

Unsecured loan (from director) 50,000

Sundry creditors 3,00,000
Outstanding Expenses
(Including Directors
remuneration Rs. 20,000) 70,000

10,10,000 10,10,000
(Note : Dividends on cumulative preference shares in arrears for 3 years)
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The following scheme of reconstruction has been agreed upon and duly approved
by the court :

1) Equity shares to be converted into 1,50,000 shares of Rs. 2 each.
2) Equity shareholders to surrender to the company 90% of their holding.

N 1. . :
3) Preference shareholders agree to reduce their claim by c in consideration of
which 8% preference shares are to be converted into 9% preference shares.

1
4) Sundry creditors agree to reduce their claim by c In consideration of their
getting shares of Rs. 35,000 out of the surrendered equity shares.

5) Directors agree to forego the amounts due on account of unsecured loan and
Directors’ remuneration

6) Surrendered shares not otherwise utilized to be cancelled.

7) The assets to be reduced as under :
Goodwill by Rs. 50,000, plant by Rs. 40,000, Tools by Rs. 8,000.
Sundry Debtors by Rs. 15,000 and stock by Rs. 20,000.

8) Any surplus after meeting the losses should be utilised writing down the value
of the plant further.

9) Expenses of reconstruction amounted to Rs. 10,000.

10) Further 50,000 equity shares were issued to the existing members for increasing
the working capital. The issue was fully subscribed and paid up.

11) Authorised capital was suitably increased.

A member holding 100 equity shares opposed the scheme and his shares were
taken over by a director on payment of Rs. 1,000 as fixed by the court.

You are required to pass the journal entries for giving effect to the above
arrangement and also to draw up the resultant Balance Sheet of the company.
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4. Shri Akshay is appointed liquidator of Sun Co. Ltd. in voluntary liquidation on
15t July 2008. The following balances are extracted from the books on that date :

Liabilities Rs. Assets Rs.
24,000 shares of Machinery 45,000
Rs. 5 each 1,20,000 Leasehold properties 60,000
Reserve for Bad debts 15,000 Stock in Trade 1,500
Debenture 75,000 Book Debts 90,000
Bank overdraft 27,000 Investment 9,000
Liabilities for purchases 30,000 CallinArrears 7,500
Cash in hand 1,500

Profit and Loss Alc 52,500
2,67,000 2,67,000
You are required to prepare a Statement of Affairs for the meeting of Creditors.
The following assets are valued as under :
Machinery Rs. 90,000 ; Leasehold properties Rs. 1,09,000;
Investment Rs. 6,000 ; Stock in trade Rs. 3,000.

Bad debts are Rs. 3,000 and doubtful debts are Rs. 6,000 which are estimated to
realise Rs. 3,000. The Bank overdraft is secured by deposit of title deeds of
leasehold properties. Preferential creditors are Rs. 1,500, telephone rent outstanding
Rs. 120.
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5. From the following particulars relating to Deenanath Charitable Hospital, Pune
prepare :
A) Receipts and Payment Account for the year ended 315t March, 2008 and
B) Balance sheet as on 315t March, 2008.

Expenditure Rs. Income Rs.
To Medicines consumed 29,980 By subscriptions 56,000
To Honorarium to Doctors 12,000 By Donations 9,500
To Salaries 27,500 By Interest on investment
To Printing and stationery 1,100 @ 11%p.a 11,000
To Electricity 475 By Income from Film show
To Rent 6,000  Proceeds 11,450
To Dep. on Furniture 2,100 Less: Expenses _ 780 10,670
To Dep. on Equipments 3,250
To Surplus 4,765
87,170 87,170
Particulars On 01-04-2007 On 31-03-2008
Rs. Rs.
1) Subscription due 120 160
2) Subscription received in advance 64 100
3) Electricity bill unpaid 92 115
4) Stock of Medicine 7,820 9,750
5) Value of equipments (Estimated) 11,600 13,900
6) Furniture and fixtures 21,000 18,900
7) Land - 10,000
8) Interest accrued on investment
in 11% Deb. costing Rs. 1,02,500 3,750 3,750
(Face value Rs. 1,00,000)
9) Cash in hand 340 160
10) Cash at Bank 9,000 ?

B/1/10/2,155
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M.Com. (Part — I1) (Optional) Examination, 2010
Gr-G : ADVANCED BANKING AND FINANCE
Paper — I11 : Foreign Exchange and International Finance

(Old) (2002 Pattern)
Time: 3 Hours Max. Marks : 100

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. What is foreign exchange market ? What is the role played by various participants
In the foreign exchange market ?

OR

Who is a Non-Resident Indian (NRI) ? Explain the different types of foreign
exchange accounts.

2. 1) Distinguish between Current Account convertibility and Capital Account
convertibility.

i) Explain the mechanism of export letter of credit.

OR
Explain the determinants of foreign exchange rate.
3. 1) What is exchange control ?

i) Explain three provisions of Foreign Exchange Management Act (FEMA),
1999.

OR
i) What is Gold Standard ?
i) Discuss the features and weaknesses of Bretton Woods System.

4. Explain the objectives and functions of International Bank for Reconstruction
and Development (IBRD).

OR

Explain the organisation and functions of International Monetary Fund.
P.T.O.
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5. Write notes on (any two) :
a) Credit cards
b) Floating exchange rate
c) Export Credit and Guarantee Corporation (ECGC)

d) Asian Development Bank (ADB).

TR TR
GEAT: 1) TF 5o GISlavl HATTvae HIE.
2) @F FeHIT GHTT 0T S8,
3) Feylardt ges 3at FeTIEFT T,
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B/1/10/1,275
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M.Com. (Part - Il) (Optional) Examination, 2010
ADVANCED COST ACCOUNTING AND COST SYSTEMS
(Paper — 1V) Research Methodology and Case Studies in Cost Accounting
(Old) (2002 Pattern)

Time: 3 Hours Max. Marks : 100

SECTION - |
(Research Methodology)

Note : All questions are compulsory.

1. What do you mean by ‘Research’ ? Explain the various types of ‘Research’. 15
OR

Explain the term ‘Hypothesis’. State the types of hypothesis. 15

2. Explain the methods used for collection of Primary Data for research. 15
OR

Explain the various statistical tools used for research. 15

3. Write short notes on (any four) : 20

a) Basic Research

b) Exploratory Research

c) Interview Techniques — a method of data collection
d) Research Design

e) Areas of research in Cost Accounting

f) Qualities of researcher.
P.T.O.
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SECTION - 1l
(Case Studies)

Note : Both the cases are compulsory.

4. You have been retained by your client, (which is a small fabrication unit with
annual turnover of around 2 crores) to develop material procurement system on
scientific basis. Design the system along with design of all the necessary documents
involved in the system. Make logical assumptions. 25

5. The Managing Director of your company has asked you as a Cost Consultant
to investigate into the causes of Idle Time.
to work out the monetary loss on account of Idle Time and

to suggest suitable measures to avoid idle time

Write a suitable report to be submitted to the Managing Director. Make logical
assumptions. 25

B/1/10/1,020
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M.Com. (Part — I1) (Optional) Examination, 2010
Business Practice and Environment
ENTREPRENEURSHIP DEVELOPMENT
(Paper — 1V) Research Methodology and Case Study
(2002 Pattern) (Old)

Time: 3 Hours Max. Marks : 100

Instructions : 1) All questions in Section | are compulsory. Attempt any two
questions from Section 11.
2) Figures to the right indicate full marks.

SECTION - |

1. What do you mean by ‘research’ ? Explain the utility of research. 16

OR

“A good researcher must have certain qualities”. Justify this statement with appropriate
examples. 16

2. Write a detailed note on primary and secondary data by explaining sources of it. 16

OR
Explain in detail the research process. 16
3. Write short notes on (any three) : 18

a) Limitations of social research

b) Advantages of interview method

c) Importance of hypothesis in social research
d) Different types of graphs

e) Main parts of statistical table.
P.T.O.
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SECTION - Il

4. Shashank and Subodh met while working at Educational Disc Promotion Co.
Shashank was in-charge of editorial and production. Subodh was handling
marketing and administration. Both decided to start their own company. Shashank
decided to look after marketing and Subodh became in-charge of production and
public relations.

The partnership became the perfect partnership and everything was going well.
As the time went by, Subodh wanted to do some more “creative’ job. Hence, he
continued to spend his most of the time in producing educational disks rather
than looking for new business.

Shashank’s loyalty to Subodh made him blind and because of the friendship, he
trusted that Subodh was taking care of his side of the business.

However, Subodh was not very good at the task he had taken on. He made
mistakes that reduced expected profits. He was not making new sales contacts.
If that were not enough, he was letting his friend down and Subodh began to
avoid talking to Shashank. He stopped coming into the office and finally he stop
returning phone calls. By the time Shashank realised what was happening to the
business, it was too late. Shashank was left with more than Rs. 5,00,000 unpaid
bills and other debts. And there was final message on the answering machine
from Subodh- “I’m moving out of town and I’ll be back after two months”.

It took Shashank three years to come out of the financial mess and get his new
company up and running successfully.

1) How could Shashank and Subodh have avoided problems that led to the end
of their partnership ? 13

2) Why is this situation a good example of the difficulty in maintaining partnership
between friends ? 12

5. Damini was the first child of the middle-class family of Pune and very enterprising
since her childhood. She took very active part in different extra-curricular activities
like drama, debating and sports in school days. She was also good at cooking
and she used to take part in cooking competitions and won many prizes. Due to
financial difficulties of the family she did part time job as a receptionist in the
local hospital.

After passing the HSC examination she opted for science course in one of the
reputed colleges in the city, however due to her mother’s ill health she had to look
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after her family, hence, she cancelled her regular admission and joined Tilak
Maharashtra Vidyapeeth and she became an Art Graduate.

After obtaining B.A. degree she accepted petty clerical jobs but she was not
happy with the salary and nature of routine work. She wanted to do some creative
work. She discussed her problem with her friends and parents. Finally she decided
to convert her hobby into business.

She started accepting small orders of catering in local area. She realised that there
was a lot of scope for catering business in the market. Hence, she decided to
expand her activities. Therefore, she wanted to purchase more utensils, mixer,
grinder and other things. She approached the bankers and they asked her to
submit project Report.

Questions :

1) Describe the qualities which were responsible for making Damini an
entrepreneur.

2) What marketing strategy should be followed to expand her business ?
3) Inyour opinion what are the strengths and weakness of catering business ?
4) Describe the contents of Damini’s Preliminary project report.

. Mrs. Smita Tardalkar is a housewife-turned entrepreneur through sheer
determination and hard work. Her husband, a mechanical engineer by profession,
had spent a number of years in Libiya in senior positions which had earned him
and Mrs. Tardalkar many helpful friends.

Mr. Tardalkar returned to India in 2004 and started his consultancy work here.
However, in 2006 Mr. Tardalkar met with a major accident and this brought about
a complete change in Mrs. Tardalkar’s life style. She was quick to realise that she
could no longer be content with remaining as a housewife, she would need to do
something to increase the family income.

33

10
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She showed a good bit of business acumen in deciding to make use of her
contacts in Libiya and go in for exports. She had known a good number of
Indian families there and had known their requirements and tastes. The first thing
that struck her was that a great demand existed among the Indians settled down
there for greeting cards for various festivals and occasions. This is how she

started her career in exports and so was born Dhruv Export Corporation in 2006.

Soon Mrs. Tardalkar added on other items in her export list to Libiya, more
notable among those being the calendars displaying wild life and some brass

items. She later found a good market for terracotta murals and decorative pots.

Her success in exports to Libiya gave her the confidence to expand her activities

in other countries where her relatives were settled.

Currently, Mrs. Tardalkar has a turnover of about Rs. 12 lakhs, working almost
alone, her youngest daughter does help her in various activities. However, her
major forte has been her personal contacts. She keeps going abroad for renewing
her contacts and promoting her exports. Her latest thrust is in Australia and she
hopes to push in a number of items there in the not too distant future. While she
does the paper work herself, she has left the packing and forwarding to
professionals in the field. She is full of self-confidence and plans to expand her

exports on a much bigger scale.

Questions :

1) ldentify the causes responsible for Mrs. Tardalkar to become an enterpreneur

and the contributing factors for her success in venture. 13

2) Examine the opportunities linked with her qualities as a woman enterpreneur. 12
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M.Com. (Part —11) (Optional) Examination, 2010
BUSINESSADMINISTRATION (2002 Pattern)(Old)
(Paper —1V)

Resear ch M ethodology and Case Study

Time: 3 Hours Max. Marks: 100

N.B.: i) Section — | belongs to Research Methodology and
Section — |1 Case Sudy.
i) Section — | and Section — || carries fifty marks each.
lii) Figures to the right indicate full marks.
Iv) Answers to both Sections should be written in the same
answer book.

SECTION - |
(Research M ethodology)

1. Explain various stages in the Research Process. (16)
OR

What is Research Report ? Describe the objectives and contents of Research
Report.

2. What is*Questionnaire’ ? Describe the features of good questionnaire. (16)
OR

Explain the role and importance of primary datain the Research.

3. Write short notes on (any 3) : (18)
a) Classification and codification

b) Hypotheses

c) Role of Computer in Research
d) Qualities of good Researcher
e) Interview Technique

f) Random sampling.

P.T.O.
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SECTION — 11
(Case Study)

4. Describe various types of cases. (10)
OR

State the advantages and limitations of case study method.

5. Attempt any two cases from the following :
A) Case No. 1: (20)

Job Satisfaction

Sanjay had prospered fairly well in his service and had a reasonably good pay
and status. He, however started feeling clamped when the Boss's young son
joined the business and started interfering with the day-to-day work of senior
officers. He also felt that for proper development, his skills demanded awider
field, which would not be available under the boss's son.

He toyed with the idea of standing on his own legs. As aresult of discussion
with friends, he picked out one friend Bharat who wasin more or lessasimilar
situation. They together listed the alternatives before them asfollows:

A) To continue the status quo

B) To seek other employment

C) Tojoin together to form a consultant firm
D) Tojointogether to form asmall jobing firm.

When they analysed the alternatives they felt that they had not got the finance

or the 'influence' to insure a degree of confidence for success. At the same
time, to continue as it was to count frustration and demoralisation.

Some | ssues
1) Analysethe case

i) Was the son introduced into the business after :
a normal training.
b) appreciation of working situations.

i) Doesthislook likearea happening ?
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B) Case No. 2: (20)

Promotions and Designations

A large industrial concern had to substitute a retiring General Manager. After
considerable deliberations it was decided to take an inside man. For this purpose
all seniormost people were considered and it was agreed to appoint a particular
person as General Manager.

After about two years, one of the senior man raised the issue of hisdesignationin
relation to the promoted man. The promoted man naturally did not likeit. But had
no alternative as he felt the management wanted to satisfy the other man. Finally it
was agreed to upgrade the designation of the other man and suitably qualify that of
the promoted man.

Some | ssues

1) Could this have affected the loyalty or sincerity of the promoted man ?
i) Whether the original selectionwasfaulty ?
i) Why did the promoted man not resign ?

Iv) Is this situation representative even in a small way of the Indian industrial
climate?

C) Case No. 3: (20)

You have been asked to look into the operations of a company which isin the
business of repairing and overhauling automobiles. Current practices have led to
an extreme amount of customer dissatisfaction due to very high waiting time,
discourteous behaviour of work forcewith the clients, poor quality of workmanship.
Asaresult the customers have started getting their maintenance service elsewhere.
Thisoperationislocated in an environmentally alert community and they havea so
been complaining to the local municipal authority about operations and waste
material and water disposed off, is causing lot of inconvience in the locality. The
owner wants your managerial advice for improving the effectiveness of systemin
operations. In this context how will you analyse the situation ?

What further information you may need ?
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F) HAA 3 (20)
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M.Com. (Part — ) Examination, 2010
BUSINESSTAXATION (Old)
(2002 Pattern) (Optional Paper)
As per Provisions of Income Tax Act, 1961 / Wealth Tax Act 1957 / Finance
Act 1994 as Applicabletothe A.Y. 2010-2011

Time: 3Hours Max. Marks: 100

Note : 1) All questions are compulsory.
2) Figuresto the right indicate full marks allotted to the question.

3) Read all the questions very carefully before attempting the
same.

4) Level of knowledge - advanced (As per syllabus)

1. A) Briefly explain the provisionsin respect of filing of ServiceTax returns. 5
B) Stateonly the pointsin respect of which informationisrequiredto begivenin

an application for registration under ServiceTax rules. 5

2. Write short notes on any three of the following : 9

1) Valuation date under Wealth Tax Act, 1957

2) Payment of Advance Income - Tax by a Company

3) Interest on capital payable by the firm to the partners

4) Interest payable by the government to the assessee on income-tax refund

5) Tax Return Preparer.

3. Answer any two of the following : 8

A) Briefly state the provisions of Income-Tax Act, 1961, relating to filling of
appeal to Commissioner of Income-Tax (Appeals).

B) Briefly state the provisions of Income-Tax Act, 1961, relating to revision by
the Commissioner of income tax under Section 264.

C) Briefly statethe provisionsof Income-Tax Act, 1961, relating to penalty under

Section 271 [1] [c] for concealment of income. .
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4. Answer any two of the following : 10
1) Indexed Cost of acquisition of Long-term capital asset
2) Transport Allowance to a handicapped employee
3) Tax on lottery income
4) Scheme of computation of income on Presumptive basis.

5. Shri M.M. Singh had following assets and liabilities on 31 March 2010 :

1) Gold & silver stock Rs. 5 crores
2) Cash credit against stock Rs. 2 crores
3) BuildingatW.D.V. Rs. 2 crores, [Used for his jewellery shop]

[ Government valuation of the same on 31-3-2009 was Rs. 7.20 crores]
4) Disputed incometax payable Rs. 21.00 lakhs

5) Wealth-tax due for theA. Y. 2008-2009 - Rs. 12,500

6) Loan taken against above building - Rs. 75 lakhs.

What isyour adviceto Mr. M. Singh regarding hiswealth-tax return for the
A.Y.2010-20117? 7

6. Mrs. Obama submits the following particulars of her income for the previous
year 2009-2010:

1) Interest on Recognised Provident Fund account @ 12.5% from her employer-
Rs. 1,50,000/-

2) Interest received on Public Provident Fund account - Rs. 1,60,000/-

3) Interest charged on self-occupied residential house property [with her 60%
ownership share in this house] construction loan [taken in the previous year
2006-2007] @ 12.5% - Rs. 1,70,000/-

4) Interest received on capital inapartnership firm asapartner inthesaid firm -
Rs. 1,80,000/-.

5) Interest received on Fixed deposits @ 12% from Bank of India after 10%
Income-Tax deducted at source - Rs. 1,89,000/-.

Find out her net Income Tax liability for A.Y. 2010-2011 assuming that she had
paid an Advance-Tax Rs. 50,000/-. 12
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7. M/s. National High Way Corporation is a contractor engaged in construction of
National highways. During the previousyear 2009-2010, it received from Govt.
of India net amounts of Rs. 19,42,320/- after

a Deduction of Income Tax @ 2.06% on gross bill due before recovery of cost
of materials supplied and

b) Recovery for cost of stedd and cement supplied by the Govt. of India for this
work of Rs. 8,00,000/-. It seeksyour advice on finding out income from this
businessfor the previousyear 2009-2010. What will be your suggestion ?

8. Rising SonsConsumers Co-operative Society of Pune submitsyou thefollowing
particularsfor the previousyear 2009-2010:

1) Net profit as per Profit and Loss Account - Rs. 6,50,000/-

Itincludesthefollowing:

a) Interest received on various Co-operative bank fixed deposit accounts
Rs. 2,69,100/-. This net amount recorded in the books is after 10.3% Tax
deducted at Source.

b) Dividendreceived 1) from Pune Central Co-operative Bank Ltd. Rs. 15,000-
and 2) Rs. 12,500/- received from Pune Bank Ltd.

Find out itstax liability for theA.Y. 2010-2011.

9. On 12" February 2010, Mrs. Laxmi got arefund of Rs. 7,500/- for theA ssessment
year 2009-2010. Tax duefor the said assessment year was Rs. 89,000/-. Advance
Tax and Income-Tax deducted at source amounted in al to Rs. 96,500/-. The
return for the Assessment year 2009-2010 was filed on 30" July 2009.
Mrs. Laxmi had proposed to complain to the Income-Tax Officer regarding
non-recei pt of interest on refund of income-tax of Rs. 7,500/-. Astax consultant,
what will be your adviseto her ?

—4

10

10

12
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10. M/S. Sunshine Bros. - a partnership firm- sold on 31 December 2009 a long-
term capital asset [bought in 1930 for Rs. 7,000/-]. It had afair market value on
1 April 1981 of Rs. 7 crores. Consideration for transfer of this asset was
Rs. 30 crores and 66 lakhs. It's books showed a turnover of goods sold
Rs. 34,00,000/- only during theyear. Cost Inflation Index for FY. 1981-82is100
and for FY. 2009-2010, the sameis 632.

Income-Tax Officer sent a notice to the said partnership to impose a penalty on
the firm on the ground of not having conducted the audit of the books under
Section 44AB of the Income-Tax Act 1961. This letter was sent as the total
turnover [capital asset and goods| exceeded Rs. 40 lakhs in the previous year
2009-2010. Proposed penalty of Rs. 15,50,000/- was ¥2% of the total of sale of
goods and capital asset. You are required to comment on the course of action of
the assessing office and course of action to be taken by the said partnership firm

under provisions of the Income-Tax Act 1961. 12

B/1/10/2,070
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M.Com. (Semester — V) Examination, 2010
CAPITAL MARKET AND FINANCIAL SERVICES
(2008 Pattern) (New)
(Compulsory Paper)
Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. What isCapital Market ? Explainin detail the structure and functions of Capital
Market.

OR
1. A) Describe the participants of capital market.

B) Statevariousinstrumentsin capital market.
2. Writenoteson:
A) National Stock Exchange (NSE).

B) Over The Counter Exchange of India.(OTCEI)
OR

2. What is secondary market ? Describe in detall the objectives and functions of
secondary market.

3. What islisting of securities ? Explain the advantages and guidelines of listing of
securities,

OR

3. What isMerchant Banking ? Explain the functions and various services rendered
by Merchant Banker.

4. What do you mean by SEBI ? Explain background, establishment and functions
of SEBI.

OR
4. A) What isForeign Investment ? Explain the need of foreign investment.

B) Explaintheterm Externa Commercial Borrowings.
P.T.O.
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5. Write short notes on (any four) :
a Functionsof Primary Market
b) Bombay Stock Exchange
c) Central ListingAuthority Regulation-2003
d) Types of Mutual Funds
e) Powers of SEBI
f) ForeignInstitutional Investors (Flls)
TRIST ®UTHR
geaT : 1) @d g7 TSt srfAard srea.

2) @S JeIT GHA T 376,
3) TFYITI3! qeB ST FITTIAHT TET.

1. JTSddl STSIR U 1 ? Wi ST T 9 SRR iaediqul T4 .
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1. ) AiEad FSTRId I Tl T2k Jui .

§) WiSad SIS T e e |
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&) T 9T ISR (NSE).
&) Rt )i fafma % (OTCE).
Tehan
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3. U gl RN h 7 USHT=AT YU %RIe 10T TRUishun eHid Hriesich
T T .

ferant
3. Tle SifohT TEUSI S ? Hle Sohd] 1 9 Heie siohehgd JUCvATd Jur=a foafae 9 vl
.




RO A 3 [3770] — 401
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B/1/10/8,390
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M.Com. (Semester —1V) Examination, 2010
OPERATIONSRESEARCH (New)
(2008 Pattern)

Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Use of calculator and statistical table is allowed.
4) Symbols and abbreviations have their usual meanings.

1. Attempt any four of the following: 16

a) Define
i) Saddle Point.
ii) Value of the game.
i) Fair game.

Iv) Strictly determinable game.

b) Findtheminimal spanning treeinthefollowing network.

Arc 1-2 13 1-5 2-3 2-4 34 2-5 4-5
Distance 4 3 7 4 3 2 6 5
(Km)

c) What isthe difference between slack, surplusand artificial variables? How do

they differ in their structure and use ?

P.T.O
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d) Obtain initial basic feasible solution using Least Cost Method. (LCM) (Also
known as Matrix MinimaM ethod)

Ware house
Plants Cost / Unit (in Rs.) Supply
I [ [11 v
A 3 8 2 3 10
B 4 6 5 0 25
C 2 0 3 5 20
Demand | 25 10 15 5 55

€) Check whether following games have saddle points.

B, B, Bs

A.[56 46 34

)  A,/76 56 51
As|81 59 56

B B
A,|-5 5

f) What do you understand by unbalanced transportation problem ? How would

you convert it into balanced transportation problem ?

2. Attempt any four of thefollowing: 16

a) Describethe transportation problem and give its mathematical model.
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b) Findtheshortest routefrom plant (1) to warehouse (6) inthefollowing network.

(Distances between the nodes arein Km)

c) Prepareinitiad tablefor thefollowing Linear programming problem using smplex
method. Carry out oneiteration only.

Max. Z =50x; + 120x,
Subject to 2x, + 5, < 82
3X, + X, < 60

X, Xp > 0]

d) Given the following payoff table for the demand stock combinations of a
product, find the number of articles to be stocked so as to maximize profit.

Payoff (Rs.)

Demand / week | Probability 15 Solc(l; 17 18
15 0.1 450 420 30 360
16 0.2 450 480 450 420
17 0.4 450 480 510 480
18 0.3 450 480 510 540

e) Explain with examplesthe concept of dominance in 'Game theory'.
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f) A table given below has been taken from the solution procedure of a
Transportation problem involving minimization of cost (in Rs).

Stockists_, Capacit
Factories X Y Z p. y
(Units)
\’
2 6 6
A @D 25 56
B 14 22 14
@1 82
6 14 22
¢ 77 77
Demand
(Units) 72 102 41 215
1) Show that the above solution is not optimal.
i) Find the optimal solution.
3. Attempt any four of thefollowing: 16
a) Explainthefollowingtermswith an example.
i) Node i) Arc i) Network iv) Flow.

b) The road network is shown in the figure below. The numbers near the node
along the arc indicate the maximum flow of cars (in 00) from the node along
theare

Find the maximal flow from node (1) to node (6)
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c) Preparethe pay-off table and regret table for the following :

‘The Cost of making an item is Rs. 50 and selling price of theitem is Rs. 60.
Unsold item has no resale value. The probability distribution of salesis

given below.
Weekly Sales 4 5 6 7

Probability 0.1 0.2 04 0.3
d) Obtainthedual of thefollowing primal LP (Linear Programming) problem.
Max. Z = X; —2X, + 3X3
Subject to —2x; + X, + 3x3 =2
22X+ X, + X3 < 1
Xq, X0y X3 > 0

€) Preparetheinitial smplex table and carry out oneiteration for the following

LP problem.

Min. Z = 3x, + 2X,

Subject to 2x; + X, > 2
33Xy +4x, > 12

X1, X5 > 0
f) Indicate the differences between decision making under risk and decision

making under uncertainty in statistical decision theory.
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4. Attempt any two of the following : 16

a) A company has 3 products P, P,, P at three of its plants situated in cities
A,B,C. The profit per unit (in Rs.) from various plants are listed below along
with the demand for various products and capacity available in each of the

plants.
Product
Plant P, P, P, Capacity
A 35 24 20 600
B 30 28 25 1000
C 20 o5 37 800
Demand 500 800 600

Find the optimal solution.

b) Explain and illustrate infeasibility and unboundedness in a LP problem
graphically. How can each of these be detected while applying smplex method ?

c) i) Solvethe game whose payoff matrix is given below.
Player B

1

{6 11 8

PlayerA 11|19 5 9
lmj6 8 8

i) What is the shortest route algorithm ? Explain the steps.
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5. Attempt any two of thefollowing : 16

ad What is a minimum cost capacitated network problem ? Illustrate with an
example. Describe the steps for solving such problem.

b) A processor of frozen vegetables hasto decide what crop to plant in aparticular
year. Suppose there are only two options; to plant cabbage and to plant
cauliflower. The states of nature can be summarized in three possibilities perfect
weather variable weather and bad weather. On the basis of weather records, it
Is determined that probability of perfect weather is 0.25, variable weather is
0.50 and bad weather is0.25. Theyields (in Rs.) of the two crops under these
conditions are known. The payoff (in Rs. ) is shown in the following table.

Event
Action E, . 5, E,
Perfect Weather | Variable Weather | Bad Weather
A Plant Cabbage 40,000 30,000 20,000
A2 Plant Cauliflower 70,000 20,000 0

Draw the decision tree and advice the processor on the selection of the action.

c) List all possible cutsin the following network with source at sand sink at t.
Hence find the maximum possible flow from sto't.

B/1/10/1,730
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M.Com. (Semester — V) Examination, 2010
Group—B: ADVANCED COST ACCOUNTING AND COST SYSTEMS
Special Paper — VI
[Recent Advancesin Cost Accounting and Cost Systems]
(2008 Pattern) (New)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. A) Definethefollowing termsin one sentence only as per ‘CAS'. 8
1) Finance cost
i) Standard Cost
i) Administrative Overheads
Iv) Overtime
V) Scrap
vi) Direct Expenses
vii) Waste
viii) Direct Materidl.
B) Write short notes on the following as per ‘CAS' (any two). 8
1) Employee cost
i) Cost of Utilities
i) Packing Material Cost.
Iv) Material Cost

2. A) Explain‘ExciseAudit’.
B) What is‘ERP ?Explainitsfeatures.

3. What isfive‘'S ?Explain its phases. 16
4. What is*VAT' ? Explainin detall ‘ VAT Audit’. 16
5. A) Explain the concepts‘DMAIC’ and ‘DMADV’. 8

B) Comment ontheArticlepublished inthejournal * Management Accountant’
(August 2009) on*My Experiment with Inventory Management’.
By Renganathan. 8

B/1/10/2,420
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M.Com. (Semester — 1VV) Examination, 2010
Gr.—B : ADVANCED COST ACCOUNTING AND COST SYSTEMS
(Special Paper — VI1I1) (Optional) (New) (2008 Pattern)
Case Studies in Cost Accounting

Time : 3 Hours Max. Marks : 100

Instructions : 1) Attempt any four questions.
2) All questions carry equal marks.
3) Use of non-programmable calculator is allowed.

1. The finishing shop of a company employees 60 direct workers. Each worker is
paid Rs. 400 as wages per week of 40 hours. When necessary, overtime is
worked upto a maximum of 15 hours per week per worker at time rate plus one-
half as premium. The current output on an average is 6 units per man hour which
may be regarded as standard output. If bonus scheme is introduced, it is expected
that the output will increase to 8 units per man hour. The workers will, if necessary,
continue to work overtime upto the specified limit although no premium on
incentives will be paid.

The company management is considering introduction of either Halsey plan or
Rowan plan. The budgeted weekly output is 19,200 units. The selling price is
Rs. 11 per unit and the Direct Material Cost is Rs. 8 per unit. The variable
overheads amount to Rs. 0.50 per direct labour hour and the fixed overhead is
Rs. 9,000 per week.

Comment with supporting working on the weekly profitability of the company if
it accepts the proposal to introduce either Halsey Incentive plan or Rowan
Incentive plan. 25

2. The Management of Sunset Ltd. wants you to assist them to have an idea of the
profit lost as a result of labour turnover and for the company provides you the
following details :

Last year sales accounted to Rs. 66,00,000 and the P/V Ratio was 20% . The
total number of actual hours worked by the direct labour force was 3.45 lakhs.
As a result of the delays by the personnel department in filling vacancies due to
labour turnover, 75,000 potentially productive hours were lost. The actual direct

P.T.O.
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labour hours included 30,000 hours attributable to training new recruits, out of
which half of the hours were unproductive. The costs incurred consequent on
labour turnover revealed on analysis as follows :

Recruitment cost 18,725
Selection cost 12,750
Training cost 16,105
Settlement cost due to leaving 27,420

Assume that the potential production lost due to labour turnover could have been sold
at prevailing prices. 25

3. RamRam Ltd. has received a special one time only order for 2,500 medals at
Rs. 100 per medal while the current domestic market price of the medal is Rs.
150, can you advise the company to accept the one time special order ? If the
plant capacity is 9,000 medals instead of its present monthly capacity is 10,000
medals can the company accept the one time special order subject to the company
can either accept the order in full or reject totally.

The company provides other details as under :

The Company manufactures medals for winners of atheletic events and other
contests. It has current production and sale level of 7,500 medals per month. The
cost data for the month April 2010 is as under :

Rs.

Direct materials 2,62,500

Direct wages 3,00,000
Variable cost (vary with number of batches) set ups, material

handling, quality control 150 batchesxRs. 500 per batch 75,000

Fixed manufacturing costs 2,75,000

Fixed marketing costs 1,75,000

10,87,500

The Company makes medals for its existing customers in batch size of 50 medals
I.e. 150 batchesx50 medals per batch = 7,500 medals.

The one time special order for 2,500 medals requires the company to manufacture
the medals in 25 batches of 100 each. 25
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4. ZigZag Company purchases three chemicalsA, B and C from Kolkata but cannot
decide how to charge the cost of materials to the production and asks for your
help to suggest the stock rate for pricing issue of chemicals assuming a provision
of 5% toward further deterioration. The Company provides you with the following
information :

The purchase invoices shows the following :

Rs.
Chemical A- 3000 kg @ Rs. 4.20 per kg 12,600
Chemical B — 5000 kg @ Rs. 3.80 per kg 19,000
Chemical C — 2000 kg @ Rs. 4.75 per kg 9,500
VAT 2,055
Railway Freight 1,000
44,155

A shortage of 200 kg in chemical A, of 280 kg in chemical B and of 100 kg in
chemical C was noticed due to breakages. The manufacturer paid octroi duty
@ Re. 0.10 per kg, cartage Rs. 22 for chemical A, Rs. 63.12 for chemical B and
Rs. 31.80 for chemical C. 25

5. The management of the General computers Co. Ltd. is thinking to reduce its
selling prices, there are three proposals but the management could not reach a
decision, you as an expert, is requested by the company to suggest the most
appropriate alternative to be accepted for the forth coming year.

The accounts of the Company are expected to reveal a profit Rs. 14,00,000 after
charging fixed cost of Rs. 10,00,000 for the year ended on 31* March 2010. The
selling price of the product is Rs. 50 per unit and variable cost per unit is Rs. 20.
And the alternatives for consideration are :

Alternatives | Selling price reduced by | Quantity sold increased by

| 5% 10%
I 7% 20% 25
1 10% 25%

B/1/10/1,825
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M.Com. (Semester — 1V) Examination, 2010
Gr. C :BUSINESS PRACTICES AND ENVIRONMENT
Special Paper VII : Recent Advances in Business Practices and Environment
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Note : 1) All questions are compulsory.
i) Each question carries 16 marks.

1. Describe the promotional and financial incentives offered by the Government of
Maharashtra for development of textile industry under Industrial Investment and
Infrastructural Policy of Maharashtra-2006.

OR

1. Describe in detail the objectives, eligibility, role and responsibilities of Udyami Mitras
under Rajiv Gandhi Udyami Mitra Yojana.

2. Discuss the provisions of registration of beneficiaries with Udyami Mitras.

OR

2. Explain the infrastructural development policy under Industrial Investment and
Infrastructural Policy of Maharashtra, 2006.

3. ‘Define the term “Self Help Group’. Explain the nature and scope of SHG.
OR

3. ‘The SHG’s have empowered women in rural India.’ Discuss this statement in view
the role SHG’s have played in making rural women self sufficient.

4. Define the term ‘Environment Audit’. State the objectives of Environment Audit.

OR

4. Explain the principles of Corporate Governance.

P.T.O.
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5. Write short notes (any 4) :
a) Labour Market Information Cell
b) Gram Udyog Vasahats
c) Do’s and don’t of Self Help Groups
d) Limitations of Environmental Audit
e) Corporate Governance in the contemporary society

f) Role of Nominee Director under Corporate Governance.

TS AT
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B/1/10/1,390
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M.Com. (Semester — V) Examination, 2010
Gr.B—-BUSINESSADMINISTRATION
Special Paper VII: Recent Advancesin Business Administration
( 2008 Pattern) (New)

Time: 3Hours Max. Marks: 80

Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. “Changeisthe law of nature. Business world is no exception to the same”.
Discussthe statement explaining the type of and need for changesin the business

organisations.
OR
1. Why people resist the change ? How is it possible to overcome such resistance
to change ?

2. Explain the concept of ERP and enumerate main features of ERP.
OR

2. Explain the advantages and disadvantages of ERP for business.

3. Explain the concept of six sigma. State DMAIC method used in six sigma.
OR

3. Discuss DMADV method of six sigma.
4. What do you mean by cross cultural management ? What areits significance for
business organisation ?
OR
4. Explain various dimensions of cross- cultural management.

5. Write notes (any two) :
A) ChangeAgent
B) Types of mergers
C) Turn - around management
D) Computer and ERP
E) Levelsof culture.

P.T.O.
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M.Com. (Semester — V) Examination, 2010
Gr.D : Business Administration (Spl. Paper — VI11I)
CASE STUDIESIN BUSINESSADMINISTRATION
(Pattern —2008) (New)

Time: 3Hours Max. Marks: 80

Note : a) All questions are compulsory.
b) Figures to the right indicate marks allotted to each question.

1. ‘Case Study approach has been proved to be most pragmatic in resolving vital
issues in the management of corporate’. Discuss with relevant examples the
suitability of case study approach in resolving conflictsin day to day working of

the corporate. 20
OR

1) Explain the advantages and limitations of the case study method. 10

i) Explainin detail the process of learning through case study method. 10

2. You have been retained by a Multi National Corporation having operations on
global level to study the existing policy of Performance Appraisal for the shop
floor employees and to suggest a theme based training programme to boost the
productivity so asto compete on global level.

Required :
1) To present a brief note on the modus operandi as regards the existing
performance appraisal system, indicating thelacunasinit, and

i) Suggest asuitabl e training modul e along with the contents and objectivesto be
achieved through such programme. 20

3. You have been working as a Manager, Corporate Communications in an
Advertisement Agency. Your agency worksfor Western Zone which coversfive
States of India. Management of your company has decided to spread its wings
in the Southern part of the country. The goal has been quantified as below :

“that the company shall do all itsendeavor to achieve atarget turnover to thetune
of Rs. 2.5 million in a span of one year.”

Prepare a note to be submitted to the MD of your company. Your note should
include your plan of action along with resources required etc. So asto achieve
thetarget fixed by management. 20

P.T.O.
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4. Your company has asked you as its Finance Director, to submit a proposal
suggesting various options to raise an amount of Rs. 2.5 crs. The basic
assumptions are :

I) Your company isamedium size organization with average annual turnover
of Rs. 10 crs.

i) The PAT for last two years were 0.9 crs. and 1.2 crs. respectively.

lil) Thecompany has undertaken massive expansion planto cater to thegrowing
demand of its products.

Iv) The company is listed company.

Required :

Prepare a proposal stating in it the pros and cons of each option of raising the

required amount. 20
TRIST TUTR

AT 37) G I TS0 HTTITH 3776,
&) g9 JoIT ?0 0T e,
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M.Com. (Semester — 1VV) Examination, 2010
(Group F) : CO-OPERATION AND RURAL DEVELOPMENT
Recent Advances in Co-operation and Rural Development (Special Paper — V1)
(New) (2008 Pattern)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) All questions carry equal marks.

1. Discuss the causes of sickness in co-operative units.

OR
State the importance of co-operative leadership in global era.

2. What has been the impact of globalisation on co-operative institutions ?

OR

What strategy should be adopted by the co-operatives for meeting the global
challanges ?

3. Discuss the formation and organisation of self help groups.

OR
Discuss the role of self help groups in rural development.

4. Describe the various causes of farmers’ suicides in India.

OR

Discuss the various short and long term measures adopted by the government
for mitigating rural distress.

5. Write short notes (any two) :
a) Economic viability of co-opertative institutions.
b) Six sigmatechnique.
c) Self help groups and empowerment of women.
d) Self-Sustaining rural development.

P.T.O.
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M.Com. (Semester — V) Examination, 2010
(Group F) : CO-OPERATION AND RURAL DEVELOPMENT
Special Paper — V111
Case Studiesin Co-operation and Rural Development
(2008 Pattern) (New)
Time: 3Hours Max. Marks: 80

Instructions: i) All guestions are compulsory.
i) All guestions carry equal marks.

1. Anaysethefollowing case, expressyour views about related issues and suggest
the best solution.

Janlaxmi Super Bazar, registered under the Maharashtra Co-operative Societies
Act, is a leading consumer stores with a chain of 10 branches spread over
Ahmednagar and Pune district. Head office is situated in Pune city. Total 400
employeesareworking in different branches.

Shri Patel, the chief accountant and head of account department isworking in the
head office. Thirty employees are working under him.

Theentire staff isfrom the nearby areaswith little exposure to the recent trendsin
theaccounting practices. Shri Patel has prepared amassive plan of computerisation
of all the departments, including branchesa so. Theboard of directors has accepted
the plan of computerisation. On theformal request of Shri Patel, Board of directors
has newly appointed Mr. Jayprakash an expert personin thefield of Information
Technology, for the implementation of Patel’s plan.

Shri Jayprakash’sresponsibility isto help the consultants hired, for system design
and to see the whole process of computerisation through for successful
implementation of the plan, it is necessary to change mind psychology of the
employees and also they may require training. There would also substantial
organisational restructuring. The staff isworried about the continued security of
their jobs. They have, therefore, met Shri Patel and expressed their concerns.
Shri Patel asked Shri Jayprakash to handle these emerging issues, in addition to
the computerisation work.

P.T.O.
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Review questions :

1) If you are Jayprakash, how would you deal with the staff and ensure their co-
operation and acceptance of the plan ?

2) What steps the Board of directors should take to ensure that such a major
organisational change has minimal negative impact on the staff’s mind set,
their work output and work place behaviour ?

How you solvethis case by considering review questions ? Give best solution
also.

2. A leading state Co-operative Bank, with its head office, fiveregional officesand
28 branches at district places, working with 1400 employeesislocated in state's
capital. Shri P. Perdeshi, Managing Director, of the bank, once introduced an
idea of setting up astaff training centre in the Bank’s head office. The idea soon
became atopic of discussion. Should we set up such acentre or continue to rely
on external training agencies. TheM.D. had been visualized the hiring out of the
training services of the bank-appointed faculty to other co-operative banks, so as
to makethetraining centreasaprofit centre within the bank. Shri Harish Patil, the
Bank’s executive director incharge of the Human Resourse Management and
who was responsible for the training of the employees, though in favour of the
idea; However, wondered whether his department should be run asthe peripheral
business activity of the bank or should it concentrate exclusively on the training
of their own employees. Analyse the case and suggest proper solution.

Review questions::

1) Should the bank set up its own training centre or continue with the already
existing external training system ?

2) Shouldthe bank useitsown training centreto train the employees of other co-
operative banks ?

Suggest the best alternative.
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3. Shri Sow isworking in a Sant co-operative sugar factory for the last 15 years
looking after a sugarcane department of 20 employees. He is not technically
qualified man, but is a practical man having good practical experience in sugar-
canefield.

He has very good in knowledge about variety of sugarcane. However, heisvery
irregular in attendance, sometimes remaining absent for about 6 to 7 daysin a
month. He gives various excuses such as :

1) He hasto see the co-operative authorities.
2) Attend the advocate for discussing co-operative issues.
3) Sickness-his own or of hiswife, etc.

Dueto his absenteeism, he does not get full salary of the month and time, which
leads to borrowing money from his assistants, and this money generally not
returned. Thishasresulted in loss of work, if hissenior officer had not taken care
of the same from time to time. The problem is how to tackle this man so that he
will be useful and contribute to the betterment of the co-operative sugar factory.
He was warned twice for hisirregular attendance. His increament was withheld
for one year. For the same reason by the M.D. Analyse the case and express your
views about following issues.

Some issues::
1) Is Shri Slow a good and skilled workman or a good supervisor ?

2) Arehisexperience and talent used to best advantage by keeping him asapoor
supervisor ?

3) Ishisboss keento:
a) Improve Shri Sow and
b) Avoid hisill effectsfrom affecting other workman.

4) What action can be taken to improve Mr. Slow ?
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4. Therewasaseriousstrikein aco-operative sugar factory, inthe sugarcane cutting
department. The mgor workers are unskilled.

The Mukadam of such unskilled workers was coming every day on duty but he
was not allowing the workers to come to work. He was aleader in disguise.

The General Manager of the co-operative sugar factory was having serious
problem because the workers had a very strong union. After serious thought and
consultation with his colleagues and subordinates, the GM. devised method by
which he could attempt calling of the strike.

He called the Mukadam and told him that it was an opportunity when all the
relations and friends of Mukadam could be employed because the Management
had decided to take fresh labour. The Mukadam fell for the bait and next day
there were 100 relations of the Mukadam. Working in the factory. This created
the desired effect on other workers on strike and they also started coming to
work in afew days.

Now the newly employeed workers who were related to the Mukadam started
bragging about their relationship to the Mukadam and they were not doing any
work. This was an opportunity the GM. took to prove inefficiency of the
Mukadam, there by terminating hisservices. Thusthe strikewas completely called
off and the main person responsible for strike, i.e., the Mukadam, was also got
rid of.

Some issues:

a) Attitude of Manager.

b) Behaviour of Mukadam.

c) GM. result minded or ethics minded.

d) Stepstaken by G.M. for solving the problem of strike. Analyse the case and
express your opinion.
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M.Com. (Semester — 1VV) Examination, 2010
Gr. G- ADVANCED BANKING AND FINANCE
Spl-Paper — VII : Recent Advances in Banking and Finance
(2008 Pattern) (New)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Explain the following concepts :

a) Leasing b) MerchantBanking. 15
OR

What is Micro Finance ? Explain the role of banks in micro finance . 15

2. Explain various ways of electronic funds transfer. 15
OR

Explain the following concepts
a) Universal Banking
b) Mutual Fund 15

3. What do you understand by a commercial paper and a certificate of deposit ?
State recent guidelines of the Reserve Bank of India about issue of certificate of

deposits. 15
OR
Explain in detail operations of Money Market Mutual Funds. 15
4. Distinguish between primary market and secondary market. Explain the procedure
of listing of shares in a stock exchange. 15
OR

Explain the following concepts :
a) Depositories
b) Derivatives. 15

P.T.O.
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5. Write notes on any two.

a) Over the counter exchange of India
b) Repurchase obligation
c) Changing trends in foreign institutional investments

d) Bank mergersin India.
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M.Com. (Semester — 1VV) Examination, 2010
Gr. G- ADVANCED BANKING AND FINANCE
(2008 Pattern) (New)
Spl. Paper — VIII : Case Study in Banking and Finance

Time : 3 Hours Max. Marks : 100

Instructions : 1) All cases carry equal marks.
2) Solve any five cases from the following.

1. Mr. Amar has a current account in your branch . A cheque drawn by him was
returned unpaid with a direction to ‘Present Again’. Before the said cheque was
presented again a Garnishee order’ was served in respect of Amar’s account.

Explain with reason your decision, as a banker, pertaining to the cheque if presented
again.

2. What course should a banker adopt in the following cases ? Give reasons to your
answers.

a) A cheque drawn by Mr. P, a director of a limited company, and also signed by
the company’s secretary is presented for payment, after the bank comes to
know about Mr. P’s death.

b) A cheque payable to Mr. B or order and crossed ‘Not Negotiable’ is presented
for payment through the clearing. Mr. B has endorsed the cheque in favour
Mr. C who has also put his endorsement on the cheque

3. Indicate, with reasons whether the following statements are true or false.

a) Anaccommodation bill is not a bill of exchange under the Negotiable Instruments
Act 1881.

P.T.O.
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b) A current account cannot be opened in the name of a minor.
c) A cheque dated 31tJune 2009 is payable on 30" June 2009.

d) A cheque drawn in favour of Mr. M, a partner of a firm M and Co. can be
credited to the firms account.

4. Mr. X is the managing director of a limited company in which capacity he is
authorised to sign alone on the company’s bank account which is kept in'Y bank in
Pune. X’s personal account is with Z bank in Pune where he has maintained an
average credit balance of Rs. 10,000. Mr. X draws a cheque on the company’s
account in favour of himself for Rs. 1,70,000 which he pays in at Z bank for credit
of his personal account. The cheque is duly collected by Z bank and the proceeds
credited to his account. Subsequently the company goes into liquidation and the
liquidator files a suit against Z bank for recovery of money.

What is the position of Z bank ? Give reasons for your answer.

5. A farmer approaches you for a loan of Rs. 20,000 for installation of an electric
pumpset in the well in his land of 5 acres. Explain with reasons the steps and
precautions you would like to take in granting the loan.

6. A customer of your branch approaches you for a loan facility against Fixed Deposit
Receipt of Rs. 50,000 of another bank issued in his favour. How would you deal
with the proposal ? Give reasons.

7. A bank advances money on the security of a guarantee. The guarantor learning that
the principal debtor is in financial difficulties, tenders to the bank the full amount of
his liability under the guarantee and says that the security deposited by the customer
with the bank may be surrendered to him.

Discuss the position with reasons.
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M.Com. (Part — 1) (Optional) Examination, 2010
Gr.B : ADVANCED COST ACCOUNTING AND COST SYSTEMS
(Paper —11)
(2002 Pattern) (Old)
Cost Control and Cost Systems

Time : 3 Hours Max. Marks : 100

N.B. : 1) All questions are compulsory.
2) All questions carry equal marks.
3) Use of calculator is allowed.

1. State what are the various techniques of costing ? Describe important objectives
of such techniques.

OR

What do you mean by Break-Even-Analysis ? Explain Margin of Safety and
Angle of Incidence. What are the advantages and limitations of Break-Even Charts ?

2. Write short notes on (any four) :
a) Key and Limiting Factor
b) Activity Based Costing (ABC)
c) Process of cost control and cost reduction
d) Differential costing
e) Performance measurement
f) Inter firm comparison

3. A) M/s Ram manufacturing Co. provides the following details :

Year Sales (Rs.) Total cost (Rs.)

1st 39,000 34,800

2nd 43,000 37,600

You are required to calculate variable cost, fixed cost and contribution for
each year.

B) Describe advantages and limitations of budgetary control.
P.T.O.
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4. Following details are available from the records of ABC Ltd. for a month, regarding
the standard labour hours and rates of an hour for a product.

Hours
Skilled 10 30
Semi-Skilled 8 15
Unskilled 16 10

Rate per Hr (Rs.) Total (Rs.)

300

120

160

Total = 580

The actual production for the product was 1,500 units for which the actual hours

worked and rates were as below :

Hours
Skilled 13,500
Semi skilled 12,600
Unskilled 30,000
Compute :

a) Labour cost variances
b) Labour rate variances
c) Labour efficiency variances

d) Labour mix variances

Rate per Hr (Rs.) Total (Rs.)
35 4,72,500
18 2,26,800
12 3,60,000

Total = 10,59,300
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5. M/s Arihant Enterprises produce the following forecast of Income and
Expenditure, prepare a cash budget for the months June to September, 2010.

Month Sales  Purchases Wages Manufacturing Administration Selling

(Credit) (Credit) Expenses Expenses Expenses
2010 Rs. Rs. Rs. Rs. Rs. Rs.
Avpril 30,000 15,000 3,000 1,150 1,060 500
May 35,000 20,000 3,200 1,225 1,040 550
June 25,000 15,000 2,500 990 1,100 600
July 30,000 20,000 3,000 1,050 1,150 620
August 35,000 22,500 2,400 1,100 1,220 570
September 40,000 25,000 2,600 1,200 1,180 710

Additional Information is as follows :
1) Customers are allowed a credit period of 2 months.
2) A dividend of Rs. 10,000 is payable in Sept. 2010.

3) Capital Expenditure to be incurred—Plant to be purchased on 15th June, 2010
for Rs. 5,000 Building on 1st August, 2010 and a monthly instalment of
Rs. 2,000 each starts from August, 2010.

4) The creditors are allowing a credit of 2 months.
5) Wages are paid on the 1st day of the next month.
6) Lag in payment of other expenses is one month.

7) Balance of cash in hand on 1st June, 2010 was Rs. 15,000.

B/1/10/1,260
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M.Com. (Part — ) Examination, 2010
Gr.C.: BUSINESS PRACTICES AND ENVIRONMENT BUSINESS
PRACTICES
(Paper — 1) (2002 Pattern)
(Old) (Optional Paper)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
ii) All guestions carry equal marks.

1. Explainthe role and importance of service sector in India.
OR

Explain the concept of ‘ State Trading’ and state the role played by State Trading
Corporation.

2. What is‘ Organised Commodity Markets' ? Explain the features and importance
of ‘Organised Commodity Markets'.

OR
Explaintherole of Securities Exchange Board of India (SEBI).

3. Explainin brief the objectives and functions of Federation of Indian Chamber of
Commerce and Industries (FICCI).

OR
Explain theimportant objectives and functions of Public Enterprises.

4. State the impact of WTO on agri-business practices.
OR

Discuss the Government Policies related to agriculture business.

5. Writein brief (any two) :
a) Objectives of Business
b) Privatisation of trading activities
c) Businesscharacteristicsof Agriculture

d) AlliedAgriculture Business.
P.T.O.
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M.Com. (Part — 1) Examination, 2010
Group—C : BUSINESSPRACTICESAND ENVIRONMENT
(Paper —11) (2002 Pattern) (Optional)
BusinessEnvironment (Old Cour se)

Time: 3 Hours Max. Marks: 100
Instructions: 1) All questions are compulsory.
2) All questions carry equal marks.

1. “Micro Environmental Forceshave adirect bearing on the operationsof thefirm”.
Do you agree ? Explain why ?
OR

Define the concept of “Globalisation” and explain its impact on business

environment in 215 century.

2. Describe the characteristics of Indian Economic Environment.

OR
What is Pollution ? Explain its causes, effects and remedies.

3. What are MNC's ? Explain therole of MNC’sin Indian Industrial Environment.
OR

Explain the role of Indian Money Market and Capital Market in the Financial

Environment of Business.

P.T.O.
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4. DefineEnvironmentAnaysis. Statetypesof Environmental Analysisand their limitations.
OR

What do you mean by SSI ? What are the causes of sickness of SSI and aso state
their remedies?

5. Write short notes on (any two) :
1) International Business Environment.
2) Types of Pollution.
3) Role of Foreign Banks.
4) Social and Cultural Environmentin India

5) CompetitionAnalysis.
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B/1/10/825
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M.Com. (Part —1) Examination, 2010
BusinessAdministration
(Optional) Paper —1 (Old) (2002 Pattern)
Gr.D :PRODUCTION, OPERATIONSAND MARKETING
MANAGEMENT

Time: 3Hours Max. Marks: 100

Instructions: i) All questions are compulsory.
i) All questions carry equal marks.

1. Define'Production Management'. Discuss various methods of productioninbrief.
OR

What is Plant Layout ? Explain various types and objectives of Plant Layouts.

2. What is Inventory control ? State the objectives of Inventory control.
OR

Define the term 'Productivity'. Explain itsimportance. State the role of National
Productivity Council.

3. What iscustomer rel ationship management ? Explain the significance and problems
of customer relationship management.

OR
Discuss steps involved in New Product Development and explain factors
responsible for new product development.

4. Explaintheconcept of consumer behaviour. Discussthe environmental influences
on consumer behaviour.

OR

What is 'Marketing Communication' ? Explain the importance and problemsin
marketing communication.

5. Write short notes (any four) :

a Production Planning d) Importance of Advertising
b) Product Life- Cycle e) E-Marketing
c) Production Control f) New Trendsin Export Marketing.

P.T.O.
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B/1/10/1,380
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